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INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

This booklet consists of 24 pages including this front page, containing 100 questions. Verify the
Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice
any discrepancy.

Answers will have to be given in the OMR Sheet supplied for the purpose.

Before you proceed to mark in the OMR Sheet in response to various items in the Test Booklet,
you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will
result in error in your marks. '

All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen.

One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encoded for a
particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

There will be negative marking for wrong answer. 0.25 mark for each wrong answer.

There are blank pages at the end of this Booklet for Rough Work.

The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall. You are not allowed to take away the used Test Booklet after completion
of the examination.
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1. Who won Women'’s Hockey 5s Asia Cupin”
20237 g

(A) Pakistan
(B) Bangladesh
(C) India

(D) China

2. Dakshin Gangotri, India’s first scientific
base station is in—

(A) Himalayas
(B) Indian Ocean
(C) Antarctica
(D) Kanyakumari

3. 4/20++/20++/25 = How much?
(A) 2
(B) 3
© 5

(D) 6

Sy

4. Who is the youngest mountaineer in the
world and first from India to climb both Seven
Summits and Volcanic Seven Summits? :

(A) Amulya Sen

(B) Bachendri Pal

(C) Basanta Singh Roy
(D) Satyarup Siddhanta

5. Where doLes the Easternghat and
Westernghat (mountain range) meet?

(A) Nilgiri
(B) Annamalai
(C) Aravalli
(D) Satpura

1. 2023-q =R 2 55 Asia Cup el
C“T"T—'

(A) AfRm
(B) ot
(C) ©ive
(D) B

2. R AR, BIRTOT Sl (IS (P O
TRe—
(A) T i
(B) ©iFe TZAe
(C) SR
(D) ‘$RA

31204204425 = o
(A) 2 |
(B) 3
€5
D) 6

4. Rrwa TS @3 SRTST AUy AL -
R erew 7fG ¢ Wil eres MhE wiEEs
HARA—

(A) ST G
(B) et S
(C) T gy
(D) STerist Fratg

5. orre oF 8 Ao qhE (sifowuEE)
RN FT—
’ (A) =R
(B) SR
(C) SRt
(D) o=@t




6. The percentage measurement of water is
20% in 70 litres mixture of milk and water. How
much litres water should be added in the mixture,
so that the percentage measurement of water
becomes 30% in the mixture?

(A) 15 litres
(B) 10 litres
(C) 20 litres
(D) 25 litres

7. President of India is elected by—
(A) elected members of Lok Sabha,
RajyaSabhaand all the state Assembly
(B) elected members of Lok Sabha
(C) elected members of Rajya Sabha
(D) elected members of all state Assembly

8. The ratio of income of two persons is 2 : 3
and the ratio of expenditure is 5 : 9. If both of the
two persons can save rupees 600 at the end of a
month, then what is the monthly income of the first
person?

(A) Rs. 1,600
(B) Rs. 1,200
(C) Rs. 1,800
(D) Rs. 2,000

9. An empty tank is water-filled by A and B
pipesin 10 minutes, by B and Cpipesin 12 minutes
and by A and C pipes in 15 minutes. In how much
time the three pipes together will fulfil the empty
tank with water?

(A) 8 minutes
(B) 6 minutes
© 6—;1‘7 minutes
(D) 5 minutes

A3

DMRI/22

6. 70 BT 14 @ WFEE W S X%
i 20% | Refre wae Fo oMR &=t GMITe
o4, Five R e *roaa sifFwid 30% 2

(A) 15 fer
(B) 10 fForR
(C) 20 o
(D) 25 Fior

7. oEred ARATS Fifoe w—
(A) EIRTS, AEpEel s FrenfaaTeislE
fifos wep =it
(B) ™TSIg fdios wwsp aial
(€) TEFTeR FEite W 2=t
(D) =e Rumreisfkr R sy ami

8. MG JET SN SR 2 @ 3 IR 405
wAS 5 : 913 3 e Mo (I 600 DI I
Tl EW, SigE AW Jfew NHT wE o7

(A) 1,600 GBI
(B) 1,200 Bt
(C) 1,800 Bt
(D) 2,000 T

9, @35 3t 5% A ¢ B == fica 10 5, B8
C 1 fawa 12 G @R A C 7 faca 15 %
el A | e ol «@3hte e T i Bl
A FACS AL

(A) 8 7w
(B) 6 W%

© 6% R
(D) 5 RfG

Please Turn Over




DMRI22 -

10. Universal blood doner group—
(A) Group A
(B) Group B
(C) Group AB
(D) Group O

11. ‘Sarbodhinayaka’ or Head of Tamralipta
Jatiya Sarkar—

(A) Sushil Kumar Dhara

(B) Satish Chandra Samanta

(©) Ajoy Kumar Mukhopadhyay
(D) Amulya Charan Maity

12. What is the difference between compound
interest and simple interest of rupees 5,000 in
2 years at 8% annual rate of interest?

(A) 64
(B) 26
(C) 52
(D) 32

13. A famous musician in the court of Akbar—
(A) Tansen
(B) Abdul Latif
{C) Tulsidas
(D) Abdus Samad

14, Who was awarded 2023 SASTRA
RAMANUIJAN in Mathematics?

(A) Roger Penrose
(B) Katherine Johnson
(C) Ruixiang Zhang
(D) John Conway

10. (T STAR T@ ALGAH whet 2
(A) &1 @q
®) &+ R
(C) &ty
(D) &e

11. ©ife w18 TRET SR R
(A) 1 TR 41!
(B) FOMHH AT
(C) =IE® TR G
(D) SREToe A2fS

12. 9iRT 8% @ A 5,000 T 2 =
Berqin 97 '8 e IR SIS O 2
(A) 64
(B) 26
(€) 52
(D) 32

13, WSS AEETed [ TR ew—
(A) O
(B) e wifow
(OR-guy
(D) <A M

14. sffdte 2023 SASTRA RAMANUJAN
AT CIET—
(A) TEIE ™
(B) A oW
(C) =3fEmR i

(D) & TS




15. The product of two numbersis 1575 and the

quotient is % , what are the two numbers?

(A) 45,35
(B) 81,63
(C) 35,27
(D) 36, 35-

16. If (87" 6) is dmded by 88, the remainder
will be

(A) 5
B) 1
(© 81
(D) 87

17. Dyarchy was introduced in Bengal by—
(A) Robert Clive
(B) Warren Hastings
(C) Lord Wellesley
(D) Lord Dalhousie

18. Who was awarded SPINOZA prize 2023
for climate change work?

(A) Greta Thunberg
(B) Malala Yousafzai
(C) Joyeeta Gupta
(D) Rachel Carson

19. The product of three consecutive natural
numbers is 120. What is the sum of the three
numbers?

(A) 9
(B) 15
© 12
D) 14

DMRI/22

15. 9fb A4 welwet 1575 aa\@tsrq»—ef Z, R4
i N He
(A) 45,35
(B) 81,63
(C) 35,27
(D) 36,35

16. (87'%-6)-(& 88 @Al ©I% T SeieE I
(A) 5
(B) 1
(C) 81
(D) 87

17. AE OAPT A T
(A) T Fize
(B) SR &6
(C). TG STEMR
(D) =16 SR

18. 2023-9 TR ARETE TR ﬁwwm
SPINOZA 7513 (ATH—

(A) ot s

(B) ieilett eHITeEiE
(C) Tfiel vy

(D) UNHS I

19. 19 +3 foi Freifde Se ALY esw 120,
i feaibe qisiws g9 ¢
(A) 9
(B) 15
(C) 12
(D) 14
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20. Whoisthe Director General of Indian Coast

" Guard?

(A) Sanjay Jasjit Singh
(B) Ajay Kochhar

(C) Ram Das Katari
(D) Rakesh Pal

21. What will be the value of angle between the
hour-hand and minute-hand in a clock at dawn
4 am.?

(A) 90°
@) 150°
(C) 120°
(D) 110°

22, Saltreeis
(A) Coniferous
(B) Evergreen
(C) Mangrove
(D) Deciduous

23. Last Viceroy in India—
(A) Lord Canning
(B) Lord Linlithgow
(C) Lord Mountbatten
(D) Lord Wavell

24, ‘Mattavilasaprahasana’ was written by—
(A) Rashtrakuta King Dhruva
(B) Chola King Rajendra Chola
(C) Chalukya King Pulakesin
(D) Pallava King Mahendravarmana

20. W%WWWW

(TRIAEEEE) &0
(A) e Toifere P
(B) & (T
(C) Iem T
(D) [ Al

21. (S4TI9 viere w5 e RGBSt
WIS @I TN T
(A) 90°
(B) 150°
(C)y 120°
D) 110°

22, e TF T
(A) TERAR
®) brrE
(C) WHErs
(D) STy

23. SO (1 ST —
(A) 76 iR '
(B) 16 Fmfwarat
(C) =& ATTIER
(D) 7§ eTres

24. “TeReR a7 TRE—
(A) FMTTE At &9
B) @i el TrEs Gl
(C) ey e ST
(D) *iE e T

B T o
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25. Wgat'willbethe compound interestof rupees 25, qEST 5‘%: m 90T 22 FeravEa
900 n 2§ years at 5% annual rate of interest? I TS AL ' 9 '
(A) 103-28 ' (A) 103-28
(B) 110-20 B) 11020
(C) 104:50 ‘ (C) 16450
D) 10216 : (D) 102-16
6. Where inIndia different types of Corals are 26. SIETST I w4 &3F ol A2
seen? ' (A) - T
(A) Sundarban . ®) e
@ Kenlt ] omete
(C) Daman Diu
D) AR

(D) Lakshadweep - \

27. Who writes story of another person’s life— 27. GG GREN @A fff—
(A) Historian .' (A) afsziF
(B) Biographer ®) SRR '
C) Chronicler o
ED)) Penman (C). '
- (D) T
28. World’s highest rainfail— 28. it (Row) PRste F—
(A) Chinna Kallar VN Bat TR
. (B) Pune P ®)
(C) Pasighat © ARG
(D) Mausynram
, (D) GRF=aN
29. 1,8,9,64,25,216,7 29. 1,8,9, 64,25,216,7
(A) 49 : (A) 49
(B) 256 (B) 256
(C) 128 ? ©(C) 128
(D) 343 (D) 343
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30. A cricketer had a certain: average of runs 30. 97 ST 64 3w e it g
up to his 64 innings. But the average runs of the

Ellas ﬂg&arﬁgésw?ﬁmwmwﬁ
innings gets down by 2 runs on becoming out at 2871 3 NG T 2 I T | SR $IF 6T
zero in the 65th innings. Then what is his present ’ '

average of runs? AL
(A) 130 | (4) 130
(B) 128 (B) 128
(C) 64 ‘ (O 64
D) 120 (D) 120

31. Last Governor General of India—

31. ST 1R TS e
(A) Lord Canning

(A) =T Fifag
(B) Lord Ellenborough . (B) =TS wremax .
(C) Chakravorty Rajagopalachari . (GRS S,
(D) 1. B. Kripalani ' '
(D) . fR. strerredt
32. What s the sum of the first 100 odd natuga] 32. =09 1007 AN e e i v 2
numbers? : . (A) 10000
(A) 10000 (B) 10650
(B) 10650 ' (©) 15050
(€) 15050 © (D) ot AR
(D) None of the above
33. Crocodile Tears meaning— 33, IR d—
(A) Tears from animals . (A) 2oz iy
(B) Painful expression (B) e wfofes
(C) False tear

(D) Non.e of the above ((I():)) m ' T

34. Brass is made of following metals:

34. Fieet =1 feare stwmm e ¢
(A) Iron-Copper . (A) (irg-rs
(B) Copper-Tin ; ' (B) oimi-fo
(C) Copper-Aluminium

(C) er-eprefafamry
(D) Copper-Zinc (D) wii-rs1




35, What digit is to be put in the “*’ marked
place to get the number 5432*7 divisible by 9?

(A) 0
B 1
© 6
D) 9

36. How many times will be some principal in
principal & interest in 10 years at 10% annual rate
of simple interest?

1.
(A) 1 2 times
(B) 2 times
© 2%— times

(D) 3 times

37. A train crosses a lamp-post in 10 seconds
and crosses a 50 metres long platformin 14 seconds.
Then what will be the speed of the train in an hour?

(A) 60 km/hour
(B) 45 km/hour
(C) 30 km/hour
(D) 40 kim/hour

38. Who was awared the first Noble Prize in
India?

(A) Mother Teresa

(B) C.V.Raman

(C) Rabindranath Tagore
(D) Amartya Sen

39, If 26th day of March of 2019 is Tuesday,
what day will be 26th day of March of 20227

{A) Saturday
(B) Sunday
(C) Thursday
(D) Wednesday

A-9 DMRI/22

.35, “ FiE (I SRR TG 54327 AN 9=l
frorg 71

.(A D0

®) 1
©) 6
) 9

36, AR 10% 2= FF1 % G ST 10 T2
TSI Fow A2

(A) 1% ol

" (B) 2@d
L
© 25

(D) 3@

37. g GA B TP 10 GRS 93
50 3517 iedie ibwiE 14 GRS Ao S|
©laE Gave IO Te B SIfSw@s za?

(A) 60 ffi/a%t
B) 45 fi/ast
(C) 30 /=t
(D) 40 &/

38. SIS & YU FIEE T A2
(A) T G
®) F.f. q
(C) TR I
(D) T

39. 2019 GE 2604 WS TR &, 2022
HiceTd 2604 W6 F IN TA?

INRICEIES
(B) afar
©) e
(D) 34"
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40. A 70 metres long trdin in a speed of 40. 935 70 o =191 @7 6w 75 B @l

75 kmvhour will cross a 105 metres long bridge in 105 falBrT =191 9%f6 Tw ~ifg =0 ™y (v
time.

. A) 21 o
(A) 23 seconds 5

2
(B) 8% oHT
(B) 8%— seconds 5

2
© 9= O
(&) 9-?— seconds 3

)
D) 18= G
(D) 13% seconds 5

41. International Women’s Day— 41, SreEiies qia Me—
(A) February 8 (A) 8 FEafd
(B) March 8 ' (B) 8 =6
(C) April 8 (C) 8 «fam
(D) December 8 (D) 8 ferraw

42. Which country has decided to ban mobiles, 42. (PO FICH(ferE) IR v, BiEs
tablets and smart watches from classrooms in 8 G eAqG M¥T T90z 2024 (A ?

20247
(A) China (&) o1
- (B) India (B) i
{C) Netherlands - (C) EmIgepIe
(D) Japan Py D) A

43. Which Five Year Plan (India) focused on 43. SIYTs &N ARIEF sy o Fex
the development of heavy industry? . Rea wwy orem w@ie ¢

(A) First Five Year Plan (A) g AR Al
(B) Second Five Year Plan . (B) ol A=t ~fZam
(C) Third Five Year Plan (C) PO 21AIFR Al
(D) Fifth Five Year Plan (D) % i sifdwmm




AL

44. A, B and C start ajoint business. At the end
of the year, A gets %portion of dividend, B gets
-}portion of dividend and C gets rupecs 4,900.
What was the total profit in the business?

(A) Rs. 12,000
(B) Rs. 14,000
(C) Rs. 15,000
(D) Rs. 10,000

45. A train goes 10 km distance in 12 minutes.
Tf the speed of the train decreases 10km/hour, then

how much time will be needed for the train to go

that distance?
(A) 20 minutes
(B) 10 minutes ’ i
(C) 15 minutes
(D) 25 minutes

o7

46. The costprice of an articleis rupees 620and
itis 25% less than the marked price. Ifthe article is
sold at 15% discount, then the percentage of profit
will be

(A) 142% -
2 il

® 13§%

(©) 13%%

D) 12_25_%

47.
P = How much?

(A) 190
(B) 225
(C) 255
(D) 536

¢
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44, A,B'S C R TN TP S I | TH 0T
é?ﬁiﬂw % oo, B A % S AW 9REC
4,900 it AT I TP Il6 'O FNS AR

T (A) 12,0005/

(B) 14,0005

(C) 15,000 B

(D) 10,000 B

45. < G 10 B =g I 12 RfG | W
Gafoa siferast 10 /e8! T T, BT @3 WA
e GAba T© T AL

(A) 20 D
(B) 10 7%
©) 15 GG
(D) 25 T

46, < AT T 62061 4R 01 IR
(IR 25% T 1 6 AR 15% 20% e T 2, Ot
Aoed] 7S T :

(A) 14%%
B) 13%%'
© 13%%
o 2
i O 123%
E:".“’h‘.r
i
< 4,
;r - (A) 190
L (B) 225
() 255
@) 536
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48. First b‘attlé of Tarain was fought between—
(A SultanMahmudand Prithviraj Chauhan

(B) Muhammad Ghori and Prithviraj
Chauhan

(C) Babur and Ibrahim Lodi
(D) Akbar and Himu

49. 12 people can finish a work in4 days. How
many people will be needed to do 8 times of this
work in half of the time?

(A) 112 people
(B) 150 people
(C) 160 people
(D) 192 people

50. Name of the book written by Kautilya—
(A) Indica
(B) Suryasiddhanta -
(C) Arthasashtra
(D) Mudrarakshasa

L1
) ’35’96
I8

51. The smallestnumberamong 3%, 9%
) .
(A) 33
®) o
© 3é
(D) Qé

52. The product of two consecutive numbers is
1980, what is the smallest number? -

(A) 33
(B) 44
© 35
(D) 55

A-12

48. SARTTT 219l T rRE—
(A) PToR IRm 93% iR darera T
(B) 3= (1 9=k {farer Payera g
(©) =T 93 L@ e g
(D) =FE 938 B g

49, aﬁm12mm4ﬁmmmﬁmr

nﬂﬁsmwmmmcmwm
LIBIGH

(A) 112%w
" (B) 150w
(C) 160 &R
(D) 192 &=

50. Ffber Bl gl am—
(A) e

(B) imrg
(C) =iy
(D) @

51 55 65 33, g~ U S Y
(A) 3
.(B) 9
© 3

' 1
(D) 9%

[T TN

i O

52. 79 719 vf6 AT wim 1980 E, ey
YT o7

(A) 33
(B) 44
(C) 35

(D) 55
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| 53. Which is the highest number of si}-( digits 53, WG @F @A 7, 12,56 1574
divided by 7,12, 5 and 15 remaining the remainders S5l FACE AU 5, 10, 3¢ 13 OEra APFI?

5, 10, 3 and 13 respectively?

(A) 999608 (A) 999608

(B) 999598
© s9seo © o9e
ED; 999500 (D) 999500

54, Only metal that is liquid at normal

54. GG 41F T TSRS SN T ST

temperature— E—
(A) G.old (A) T
(B) Zinc ®) 7
(C) Copper
(D) Mercury (©) =
(D) Alsm

55. How many Gold Medals won by India in

55. 20239 AP (- SToT A B AR

Asian Games, 20237 Hep—
(A) 27 (A) 27
(B) 28 (B) 28
€ 29 ©) 29
(D) 30 (D) 30

56. Chief Justice of Kolkata High Court—
(A) Justice Surya Kant
(B) Justice D.Y. Chandrachud
(C) Justice T.M. Stvagnanam
(D) None of them ’

57. Which country won Women’s Emerging

56, TSl RIS 2y Romsife—
(A) @B LT
(B) w57 &, 8712, barpe
(C) =% 6. «w, Frareates
- (D) THET (T3 W

57. 2023-4 (P (7 Women’s Emerging Asia

Asia Cup in 2023? Cup T&wor?
(A) Pakistan (A) e
(B) India (B) ©iF®
(C) SriLanka ©) vt
(D) China (©) B

Please Turn Over
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38. If rupees 42 is the difference of interest of
some amount of principal between 3 and 4 years at
5% annual rate of simple interest, what is the
amount of principal?

(A) Rs. 800
(B) Rs. 840
(C) Rs. 900
(D) Rs. 620

§9. Mahaparinirvana means—
(A) Enlightenment
(B) Dharmachakraproborton
(C) Leaving family
(D) Death of Lord Buddha

60. Forest conservation can arrest—
(A) soil erosion '
(B) pollution
(©) flood
(D) All of the above

N
B

61. Who renamed Calcutta as Alinagar?
(A) Alivardi Khan
(B) Murshid Quli Khan
(C) Sirajuddaulah
(D) Mir Qasim

62. Human skin tone is governed by the
pigment— ~

(A) Melanin
(B) Silicon
(C) Insulin
(1) None of the above

58. f¥F 5% 379e e it g wifimiet vy
3 329 '8 4 LA YA~ 42 Bt g, W
sifgmey F®e - _

(A) 800Gt
(B) 840
(C) 900 i<t

|
. . |
s
(D) 620 5K -
59, wRAfafafi Fe-
(A) [@ifgaAe
(B) wfoeraeq ‘

(C) 7 st
(D) &t 7Y

60. W W WG Aforaiy w—
(A) ghrem
(B) @ '«'
(C) T
(D) Beitae HaaHR

61. IO TN AfEme @fem
(A) SR AW
(B) Iffreett i
(C) Fratecnen
(D) %ﬂﬁﬂ_

62. WFEEE AET R (M=) NSa T @TAmFT

o —

(A) Grifas
@B) P
© TfFm
(D) AR @IAIHE 77
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63. The average of 20 numbers is 12. If the
average of the first 12 numbers is 11 and the
average of the next 7 numbersis 10, the last number
will be

(A) 38
(B) 36
(C) 26
(D) 28

64. Which state is the largest producer of
sugarcane in India?

(A) Uttar Pradesh
{B) Maharashtra
(C) West Bengal
(D) Tamil Nadu

65. India’s first Remote Sensing Satellite—
(A) P6
(B) P4
(C) IRS 1A
(D) CARTOSAT

66. Which city of West Bengal is known as
gateway to N. E. India?

(A) Jalpaiguri
(B) Alipurduar
(C) Siliguri
(D) Coochbehar

67. %+%+ﬁ+....+ﬁ= How
much?
&) 3
®) =
© =
©) 3

63. 2075 7edrg 1w 121 =2% 125 ez 1w 11
AR, #igd 716 AT 1T 10 T, o TR T3

(A) 38
(B) 36
(©) 26
(D) 28

64, SIS (P TS CIF AN IR QM
(A) Terem
(B) ¥2alg
(C) sitowam
(D) ©IfEwIg

65. ©IATen 2w Al eWiR TG (™
A BoteE)—
(&) P6
(B) P4
(C) IRS 1A
(D) CARTOSAT

66. 5T (A RIS Ten-o{ o
AT <o A2
(A) TR
B) i
(C) ifef
(D) @RI

[’_.
—

67.

-
+
3
+
ot
—
—
™~
L)
[S]
tn

z

= o Rl B2

®)
©)

C

Please Turn Over




DMRI/22

68. Leader of Munda uprising—
(A) Joa Bhagat
(B) Sidhu
(C) Birsa
(D) Kanhu

69. 4 years ago, the ratio of ages of father and
son was 9 : 2, The present age of the father is
40 years. What will be the present age of the son?

(A) 12 years :
(B) 15 years
(C) 18 years
(D) 10 years

. 70. Metropolitan Institution was founded by—
(A) Ram Mohan Roy
(B) Iswar Chandra Vidyasagar
(C) Alexander Duff
(D) Nabagopal Mitra

71. A and B together can finish a work in
10 days, B and C together can finish that work in
12 days and C and A together can finish the work
in 15 days. Then in how many days C alone will be
able to do the work?

(A) 10days
(B) 20 days’
(C) 30 days
. (D) 40 days

72, Find out the value:

77 y 71772 L3 . 777%

5 5 5
(A) 3110

(B) 3018
(C) 3000
(D) 3108

A-16

68. oI Reaitas AacEs Aiv—
(A) =l o5
®) Py
(©) =
(D) =g

69. 4 T2 sl Sl @ oI W A
28191 2 | oo IS <1 40 T =1, < a IO
I TS Fa?

(A) 12 95
(B) 15 3=
(C) 18 9=
(D) 1035

70. GERARHM SAFBHER & Fiot FEA e
(A) TGN A"
(B) Swiave Rwgiilsia
©) INEREISE BIF
(D) T fig

71, A% B 3 @35 31e 10 e, B8 C 90
SR HIGM 12 93 C'8 A I S 15 fe o1
FTACS AT | O C 93l 93 TS To e e
Alqrg e

(A) 10w

(B) 20T

(C) 30

(D) 40 &=

72. R T T ¢

17171 4 77172 913 L A

5 5 5 5
(A) 3110

(B) 3018
(C) 3000
(D) 3108

.




73. The population of a village is 67,600. If 4%
of population increases every year in the village,
then what was the population of the village 2 years
ago?

(A) 64,500
(B) 62,400
(C) 62,500
(D) 65,100

74. In what proportion pure milk is mixed with
water to sell the mixed milk at its cost price havmg
25% profit?

(A) 4:1
(B) 3:2
©) 3:1
D) 5:4

75. Theratiooflengths of twotrainsis5:4.The
ratio of times to cross a postis 4 : 3. Then what will
be the ratio of speeds of the two trains?

(A) 15:16
B) 5:3
(C) 6:5
D) 5:4

76. What is the unit digit of (593)% x (124)*?
(A) 8
(B) 6
(€ 4
(D) 2

77. McMahon line as international Boun&ary |

between which two countries?
(A) India-Pakistan
(B) India-Bangladesh
(C) India—China
(D) India—Burma (Myanmar)
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73, G0 AT TN ETRFAT 67,600 | Zf
2l &S =R 4% T EUTIRY g% A1, O 2 T
wirs! \§% S ERTRYT T e e
(A) 64,500
_(B) 62,400
(C) 62,500
(D) 65,100

74, 4% vuE e T i wETe e TE
fiiftre 7y e Rers 9t 25% #e T2
(A) 4:1
‘®B) 3:2
©) 3:1
D) 5:4

-

75. 7% (G TS o 5 : 41 @3 B
e TIF ANET SIS 4 - 3 | OFge G o
ARSI TS B A2 '

(A) 15:16
(B) 5:3
(C) 6:5
M) 5:4

76. (593)% x (124)%5-49 ST 9T FI?
(A) 8 ‘
B) 6
© 4
(D) 2

77. Waﬁmqﬁmﬁmﬁm
e

(A) SrEo-{fEn
(B) SIRS—ARENT
(C) Tie-HH
- (@) Sige-an ()
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78. If the g.c.d. and the l.c.m. of two numbers

are respectively 8 and 160, then the sum of the two
numbers will be

(A) 80
(B) 62
(©) 74
(D) 72

79. Thetotal equivalent discounts of 10%, 26%
and 30% serially on an article is

(A) 71.2%
(B) 62%

(C) 60.4%
(D) 49.6%

80. ‘Poverty & Un-British'rule in India’ was
written by—
(A) Ramesh Chandra Dutt
(B) M. G. Ranade '
(C) Dadabhai Naoroji
(D) Amartya Sen

81. Hiroshima Day is observed every year on
(A) 4th August '
(B) S5th August
(C) 6th August
(D) 12th August

~ 82. For agricultural and rural development,
Apex Bank is—

(A) Reserve Bank of India.
(B) State Bank of India
(C) NABARD

(D) Bank of India

‘Y
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78. fb HRIF 5.71.2. '8 TG, JARFE 88 160
B, WY 7fha @IoNEE 71

(A) 80
- (B) 62
© 74
D)y 72

79. G FIF BT 917 #1F 10%, 20% @R 30%
RICEREEiRICEC
(A) 71.2%
(B) 62%
(C) 60.4%
(D) 49.6%

80. ‘Poverty & Un-British rule in India’-9
(_E]’?fﬁi—
(A) TOMTE wE
(B) @ &, qe
(C) Wiz GG
(D) W) G

81. &fevmy ‘R e sifere o
(A) 45t SR
(B) 53 =IP%
(C) 63 =PD
(D) 123 HtshB

82. %ﬁ G2 St THA ST IE TT—
(A) Fers s o= 2o |
B) G35 UiF w1 e
(©) e
(D) % = et
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83. If the price of sugar increases by 20% and
10% respectively, what will be the percentage
increase on the total?

(A) 20%
®) 32%
(©) 40%
D) 30%

84. Buying 5 eggs at rupees 10, sells 10 eggs at

rupees 3, then what is the rate of loss?
(A) 75%
(B) 50%
(C) 80%
(D) 100%

85. Who assumed the title ‘Chhatrapati’?
(A) Shivaji
(B) Baji Rao
(C) Dadaji Kondadev
(D) Shambhuji

86. Which state was previously known as
NEFA?

(A) Nagaland
(B) Manipur
{C) Mizoram
(D) Arunachal Pradesh

87. Who invented computer?
(A) Otto Hahn
(B) Niels Bohr
(C) Howard Eitkin
(D) Charles Babbage
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83. ToR= Tt oi7 i 20% @ 10% 3 (oIt s
Bofa Tl T 7 A
(A) 20%
(B) 32%
(©) 40%
(D) 30%

84. 10 % 56 o &1 03 S B 101 fox
Ry =90, ®eq g T2
(A) 75%
®B) 50%
(C) 80%
(D) 100%

85, ‘Taelf®’ Sfsut MaiReEw
(A) &
(B) &S
(C) wmiSh rema
(D) =&

86. ﬁﬁ%ﬁ@ Fegaled W @0 St NEFA
A wAfaoe e

(A) TNETIS

(B) W7

(C) Tt

(D) SIFIEe &

87. IFTHE SRR FE—
(A) STl EA
(B) e @
(C) QMG @B
(D) BT A=
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88. What is the value of

0835x0835x0835+0165x0165x0165 .,
0835% 0835 —0-835% 0165+ 0165 X 0165
(A) 067

B 1

(C) 0-138

D) 2

89. What is the average of the cubes of
consecutive even natural numbers from 1 to 259

(A) 5200
B) 4240
(C) 4056
(D) 4628

90. If 4 +—1— =(), whatis the value of x*?

1+
X+

A) -1

(B) 4

©1

(D) 16

[FS N

91. A tank filled with water is made empty by
two pipes in 6 hours and 10 hours respectively.
What portion of the tank will be remained water-
filled after 2 hours on opening the two pipes
together?

(A) portlon
(B) portlon
(© = portlon

D —2- portion

A-20

0:835x 0:835x 0835 + 0-165% 0-165x 0-165
88. 0835x0835—0835x0165+0165x 0165
9 |9 T ¢
(A) 0:67
(B) 1
(C) 0-138
D) 2

89, 1 (7T 25 *IT =i #i7 CNT TS AT
A T F9 2
(A) 5200
(B) 4240
(C) 4056
(D) 4628

90, 4+—2

1+ 1
x+
(A) -1
(B) 4
© 1
(D) 16

=0, x~49 TN IS 7

1
3

91. {6 weTe)ef By 7% 7t iR QAT 6 Tt e
10 <51 el T T | 9ofB QK Y& @STR
2 9% WWWW{“TWT{W?

(A) —w"*f
(B) —W“"f
©) g

D) %ww
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92. A dwelling in-which soldiers live—
(A) Camps
(B) Barracks
(C) Tents
(D) Fort

93. 10 carpenters can make 6 almirahs in
7 days. Thenhow many days will take 21 carpenters
to make 18 almirahs?

(A) 10days
(B) 12days
(C) 16 days
(D) 15 days

94. Average of three numbers is 77. The first
number is twice of the second number and the
second number is twice of the third number. Then
what is the first number?

(A) 132
(B) 144
(©) 120
(D) 160

05, 1f 26.24 .. k. 14 hen K= How much?

11°9° 13°
(A) 5
®B) 2
21
© L7
D) 3

96. Who introduced Kabuliyat and Patta?
(A) Sher Afgan Khan
(B) Sher Shah
(C) Akbar
(D) Malik Ambar
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92. GimfaE—

LA T
(B) AT
(C) &% (1)
) 7of

93, 10 & A WY 7 Fw 615 wiemnz amiTe
m:wzlwwma—ﬁmsﬁwﬁ
RIS AR

(A) 10w
B) 12T
©) 16w
D) 15w

94. TSNGAIYT g 77 1 AT A Rolmwaa
Rad qa o Mt pow T fawd | SieE
ey AU Fo?

(A) 132
(B) 144
(C) 120
D) 160

95, ‘ﬂﬁ% 294 K %Q,WK—W?

(A) §
B) 2
21
©) 7
(D) 3

96. T4feiEe @ BT IP FLIA—
(A) GRS A
(B) (g ~iig
() ="
(D) T ==

Please Turn Over




97. Evaluate the smallest number which is
completely divisible by 18, 30, 21 and- 12 if it is
made thrice.

(A) 420
(B) 360
(©) 520

DMRI/22
(D) 660
|

98, If Ais 10% less of B and B is 10% more than
900, then what is the value of A?

(A) 660
(B) 800
© 891
(D) None of the above

99. In an election, a candidate getting 60% of
votes defeats the opponent candidate by 298 votes.
Then total how many votes were polled in that
election?

(A) 1600
(B) 1490
(C) 1460
D) 1540

100. Loktak lake is situated in
(A) Nagaland
(B) Arunachal Pradesh
(C) Manipur
(D) -Sikkim

A-22

97. Taew WYl P T e et s
18,30, 21 8 12 714t F=jefsmcet Rerey 1|
(A) 420
(B) 360
(©) 520
(D) 660

98. I A, B~491 10% 2 20 942 B, 90097 57F
10% @M% =%, Bq A~ T F9 7

(A) 660
(B) 800
(C) 891
(D) B @ 7

99. «3f o, 9 AW 60% ceib (o 2fowar

* AT 298 (BTG <Iiere I | o €3 b i

o (5{5 “ireies?
(A) 1600
' (B) 1490
(C) 1460
(D) 1540

100. FIFOIT @F TS
(A) =TS
(B) SeelIoeT ATAre!
(C) Witejra
(D) FR

R
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INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:
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This booklet consists of 24 pages including this front page, containing 100 questions. Verify the
Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice
any discrepancy.

Answers will have to be given in the OMR Sheet supplied for the purpose.

Before you proceed to mark in the OMR Sheet in response to various items in the Test Booklet,
you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will
result in error in your marks.

All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen.

One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encoded for a
particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

There will be negative marking for wrong answer. 0.25 mark for each wrong answer.

There are blank pages at the end of this Booklet for Rough Work.

The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall. You are not allowed to take away the used Test Booklet after completion
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1. IfAis10%lessof B.and B is 10% more than
900, then what is the value of A?

(A) 660

(B) 800

(C) 891
" (D) None of the above

2. Who is the youngest mountaineer in the
world and first from India to climb both Seven
Summits and Volcanic Seven Summits?

(A) Amulya Sen

(B) Bachendri Pal

(C) Basanta Singh Roy
(D) Satyarup Siddhanta

3. If rupees 42 is the difference of interest of
some amount of principal between 3 and 4 years at
5% annual rate of simple interest, what is the
amount of principal?

(A) Rs. 800
(B) Rs. 840
(C) Rs. 900
(D) Rs. 620

4. The product of two consecutive numbers is
1980, what is the smallest number?

(A) 33
(B) 44
(©) 35
(D) 55

- 8, What is the value of

0835x0835x0835+0165x0165x0165
0835%0:835 —0'835% 0165+ 0165 X 0165 _
(A) 067

B) 1

(C) 0:138

(D) 2

B-2

1. It A, B9 10% %8 @38 B, 900-99 (5T
10% @M 28, O AT T 97

(A) 660
(B) 800
(C) 891
(D) ©HAER (RETR 77

2. foda iy @3 erare g AR
R cTren A @ wneaafifi cirew 1S Sz
FARA—

(A) IE]
(B) dltoan Al
(C) Fe iz am
(D) “orms! Piaie

3, mﬁ%ﬁ%wmmﬁiﬂﬁmw

3 g a4wmm@4ﬁm"ﬂﬁ WHAETS
*orﬁmcias@?

(A) 800%i®

(B) 8405t

~ () 900 Bt
P (D) 620 B

4. oI o7 T R o 1980@,‘?‘5@?
RYE T -

(A) 33
(B) 44
(C) 35
D) 55

0-835x0835x 0835+ 0165 x 0165 x 0165
" 0835x0835- 0835><0165+0165><0165
T AN FE?
(A) 067
B)1
(C) 0-138
(D) 2
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6. The percentage measurement of water is .

20% in 70 litres mixture of milk and water. How
much litres water should be added in the mixture,
so that the percentage measurement of water
becomes 30% in the mixture? '

(A) 15 litres
. (B)™10 litres
(€) 20 litres
(D) 25 Litres

7. A dwellmg in which soldiers live—
(A) ‘Camps
(B) “Barracks
(C) Tents
(D) Fort

8. Prerndent of India is elected by— - .

(A) elected members of Lok Sabha;le
.. RajyaSabhaandall thestate Assembly -

(B) elected members of Lok Sabha

(C) elccted members of Rajya Sabha

1S

(D) elected members of all state Assembly

9 ’I‘f’zém day of March of 2019 is Tuesday,
what' dag*nwm be 26th day of March of 20227

' ‘(A) Saturday
(B) _Sunday
(C) Thursday
(D) Wednesday

10. What is the difference between compound

interest and simple interest of rupees 5,000 in, _

2 years at 8% annual rate of mterest‘?
(A) 64 -
' '(B} 26
(C) 2
(D) 32

DMRI22

6. 70 i 14 ¢ wrea - aeE <o
ofﬁquo%ﬁwn%w@mwﬁmwmm
773, Ate Fedbre T wodal A 30% &2

(A 15F0=
(B) 10 o
(C) 20 o=
(D) 25 el

7. GHifFRT—
(A) i
(B) TR
(C) &% (SR
(D) o

8. wiares ARife fedifbs =—

(A) FRTSL, Hemet e TeRuRTeeRE

Fioe sy wr=t
B) ETeR e A5 T
(©) T FibS T B
i (D) ey Rerretalr b 5wy wi—

9, 2019 JER 2608 A6 THAIN T, 2022
IEE 2669 W6 T T AL

(A) i arg
B) AR

(C) F~ifeam
D) Q=

10. JFE 8% WT WA 5,000 TR 2 T=EH
berqia 7 @ FE A WG T ¢
(A) 64
(B) 26
(C) 52
(D) 32
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11. Metropolitan Institution was founded by—
(A) Ram Mohan Roy
(B) Iswar Chandra Vidyasagar
(C) Alexander Duff
(D) Nabagopal Mitra

12. Evaluate the smallest number which is
completely divisible by 18, 30, 21 and 12 if it is
made thrice.

(A) 420 -
(B) 360
(C) 520
(D) 660

13. Whoisthe Director General of Indian Coast
Guard?

(A) Sanjay Jasjit Singh
(B) Ajay Kochhar

(C) Ram Das Katari
(D) Rakesh Pal

14. Which . state was previously known as
NEFA? '

(A) Nagaland
(B) Manipur
(C) Mizoram
(D) Arunachal Pradesh

15 A famous musician in the court of Akbar—
(A) Tansen
(B) Abdul Latif
(C) Tulsidas
{D) Abdus Samad

B-4

11. GrEI=EEN 3P5HER & ZoH Faw?
(A) AR T
(B) Som Rwypitaa
(C) WFETESd Ui
(D) TN g

12, ey Wi W T4 e oasd wae
18, 30, 21 '8 12 =it H~vjefaeet Retey =41
(A) 420
(B) 360
(© 520
(D) 660

13. ORed Seige RIS s e
(rifesies) &

(A) Fgw e figg
(B) T (@A

(C) armi FHIfE
(D) I offsT

14. PR Aepefe Wy @6 ©ist NEFA
it #iffte e

(A) FeilETIS

(B) sfm

() fitsm

(D) SRFf5e S

15. SIFAA AEeTOIF f[RUTe FHRrom—
(A) SHEEH
(B) S wifew
(©) g
(D) =% Arm




16. Loktak lake is situated in
{A) Nagaland
{B) Arunachal Pradesh
(C) Manipur
(D) Sikkim

17. A tank filled with water is made empty by
two pipes in 6 hours and 10 hours respectively.
What portion of the tank will be remained water-
filled after 2 hours on opening the two pipes
together?

(A) — portlon
(B) E portion
(C) l portion

D) — portlon

18. Saltreeis
(A) Coniferous
{B) Evergreen
{C) Mangrove
(D) Deciduous

19. Name of the book written by Kautilya—
(A) Indica
(B) Suryasiddhanta
(C) Arthasashtra
(D) Mudrarakshasa

20. What digit is to be put in the **’ marked
place to get the number 5432*7 divisible by 9?

(A) 0
B 1
< 6
D) 9

B-5 : DMRI/22

16. EIIORE &1 S[ES
(A) TS
(B) SRFOIGE 2ITATet
(C) Ry
(D) PP

17. <6 wersyel Gys b /e faea At 6 4518
10 TG A T JF | T GFICR Y orewd
2 9B mmﬁawwwmﬂw?

A 1z w’*r
®) 13 vm
© 3 o

(D) 5 W

18, I 9% =7
(A) IR
®) ferE
(C) T
(D) A

19. foey B argflg am—
(A) Zew
(B) s

7 (C) wdHrE
(D) @A

20, “* A (A S I 5432%7 7R 9 =gt
Reteg z7?

A) 0
(B) 1
©) 6
(D) 9
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21. What is the average of the cubes of
consecutive even natural numbers from 1 to 25?

(A) 5200
(B) 4240
(C) 4056
(D) 4628

22. Whatwill bethe compound interestofrupees
900 in 2% years at 5% annual rate of interest?

(A) 10328
(B) 11020
(C) 10450
D) 10216

v A P = How much?
A.A |
5%

(A) 190
(B) 225
(C) 255
(D) 536

23.

24. A, B and Cstart a joint business. At the end.

of the year, A gets %portion of dividend, B gets

%portion of dividend and C gets rupees 4,900

What was the total profit in the business?

(A) Rs. 12,000
(B) Rs. 14,000
(C) Rs. 15,000
(D) Rs. 10,000

25. For agricultural and rural development,
Apex Bank is—

{A) Reserve Bank of India
(B) State Bank of India
(C) NABARD

(D) Bank of India

21, 1 (/03 25 STE o7 oY (S Tl TY|
A T T97
(A) 5200
(B) 4240
(C) 4056
(D) 4628

22, R 5% TR 900 TR 2% AT
I TS AL
(A) 10328
B) 11020
(©) 104-50
D) 10216

23.

(A) 190
(B) 225
(C) 255
(D) 536

24. A, B¢ C el @ I oF (7 | T7 R
AT % i, B TSRO % I 9T R C
4,900 51! 2I1Y | YT GG F© AT FEafRe ?

(A) 12,0005=t
(B) 14,000 Biet
(C) 15,000 Bret
(D) 10,000 Biset

25, TR a3 ATt S eoieeiw i T—
() foos g o= e
(B) G55 % o 3
©) wRE  _
(D) <% & 2w



26. ‘Sarbodhinayaka’ or Head of Tamrahpta
Jatiya Sarkar—

(A) Sushil Kumar Dhara .

(B) Satish Chandra Samanta

(C) Ajoy Kumar Mukhopadhyay
(D) Amulya Charan Maity

27. Who invented computer?
(A) Otto Hahn
(B) Niels Bohr .
(C) Howard Eitkin
(D) Charles Babbage

28. Find out the value:

1 2 3 4
7775 + 777§ + 7775 + 777§

(A) 3110
(B) 3018
- (C) 3000
(D) 3108

29. Which is the highest number of six digits
dividedby7, 12,5 and 15 remaining the remainders
5, 10, 3 and 13 respectively?

(A) 999608
(B) 999598
(C) 999600
(D) 999500 : Y,

30. A train goes 10 km distance in.12 minutes.
If the speed of the train decreases 10 km/hour, then
how much time will be needed for the train to go
that distance?

(A) 20 minutes
(B) 10 minutes
(C) 15 minutes
(D) 25 minutes

B-7 DMRI/22

26. O TSR FPICRT FAfRwIED e

(A) A T 4G
(B) o A

(C) e T LG
(D) SrEmpa e

27, soesE wifdwy sEa—
(A) =B 7N -
B) T @
(C) Qems @B
(D) ier e

28, i fefy 1 ¢

777% + 777% + 777% + 777%
@A) 3110 -

(B) 3018

(©) 3000

(D) 3108

29, THEE (FH TS RAGT, 12,58 1537t
Bia! A0 AT S, 10, 38 13 SR A2
(A) 999608
(B) 999598
(C) 999600
(D) 999500

" 30, @3 G 10 R e w12 WG| oW

GAfoa sfecant 10 BlR/2e6 w01 71, o3 6% =Y
@O GABA IS F A7

(A) 20 &G
B) 10 TG
(©) 15 %
(D) 25 fif\G
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31. A 70 .metres long train in a speed of
75 kmv/hour will cross a 105 metres long bridge in
time.

(A) 2% seconds
2

(B) 83- seconds
2

() 93 seconds

(D) 18% seconds

32. A train crosses a lamp-post in 10 seconds
and crosses a 50 metres long platformin 14 seconds.
Then what will be the speed of the train in an hour?

(A) 60 km/hour
(B) 45 km/hour
(C) 30 km/hour
(D) 40 km/hour

33. Who renamed Calcutta as Alinagar?
(A) Alivardi Khan
~ (B) Murshid Quli Khan
(C) Sirajuddaulah .
(D) Mir Qasim

34. Which Five Year Plan (India) focused on
the development of heavy industry?

(A) First Five Year Plan

. (B) Second Five Year Plan
(C) Third Five Year Plan
(D) Fifth Five Year Plan

B-8

31. w6 70 NGF o/ G 96w 75 [ et
105 Tibr =11 @3 fHwr ot 20e T Giea

(A) 2% TS

(B) _8% TS

©) 9% TS

(D) 18%- TS

32. G0 G G0 THA-CASIT 10 (TITS 98
50 TS5 (0GR AoTD 14 GRS Sfogs &7 |
O GABY 9510 o i sferas 2@ e

(A) 60 /a5

(B) 45 &hi/aHt

; (©) 30 /e
(D) 40 f&fi/g5

| .
! 33, TEIOE  SfFeiT e
(A) wifFREt 4=
(B) gl A
(C) Fraretae

(D) S

34, SRS @ R AmEE okl Piew
I owg (redl wEfes?

(A) 2 il sifzom
(B) TS st==ifd wifdasm
(C) OO “==IRAR A
(D) == iR offsm
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40. Crocodile Tears meaning—
_ (A) Tears from animals
(B) Painful expression
(C) False tear i
(D) None of the above

41. Only metal that is liquid at normal
temperature—

(A) Gold
(B) Zinc
(C) Copper
(D) Mercury

42. A cricketer had a certain average of runs
up to his 64 innings. But the average runs of the
innings gets down by 2 runs on becoming out at
zero in the 65th innings. Then what is his present
average of runs?

(A) 130

(B) 128
(€C) 64
(D) 120

1

43. The population of a village is 67,600. If 4%
of population increases every year in the village,
then what was the population of the village 2 years
ago?

(A) 64,500
(B) 62,400
(C) 62,500
(D) 65,100

44. Who was awarded 2023 SASTRA
RAMANUJAN in Mathematics?

(A) Roger Penrose
(B) Katherine Johnson
(©) Ruixiang Zhang
(D) John Conway

(A) @i Fm

(B) ¥%x wfexfe

(€) i T

(D) T @IIHE Wy

41, T g T FH i ST S
NF— L
(A) o o
®) Tl |
(C) ot
(D) A%

2. % [T 64 TROT A awl RS
AT o et | g 659w 3Rt g T67 WS
RO ZFCT oIT T 2 0 T | OIge Si T
NG A P ? o

(A) 130
(B) 128
(©) 64
D) 120

43, 93 ST IS EITRA 67,600 & |
ST &AfS TR 4% TR IR 9% #A, ©T9 2 q
IS €3, AN R T fGe 2
(A) 64,500
(B) 62,400
(C) 62,500
(D) 65,100

O

44. “f9Ts- 2023 SASTRA RAMANUJAN
ST CATTA— o
(A) TE (AR gtz
(B) IR T
(C) F3fEie AR

(D) &« FHEE




45, India’s first Remote Sensing Satellite—
(A) P6
®) P4
? «©) IRS 1A
(D). CARTOSAT

46. Wherein Indla different types of Corals are
seen?

(A) Sundarban

- (B) Kerala
(C) Daman & Diu
(D) Lakshadweep

47. How many Gold Medals won by Indla in
Asian Games, 20237 =

(A) 27
(B) 28.
(<) 29
(D) 30

48, Universal blood doner group—
(A) Group A .
(B) Group B ‘-
(C) Group AB '
(D) Group O

49. An empty tank is water-filled by A and B
pipesin 10 minutes, by B and C pipesin 12 minutes
and by A and C pipes in 15 minutes. In how much
time the three pipes together will fulfil the empty
tank with water?

(A) 8 minutes

. (B)ﬁ minutes

a

: (Q_).G—;-minutes o
(D) 5 minutes )

B-11
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45. SrRTeT A4 Rl ERPR TIRBARD (FH
i SeiaR)—
(A) P6
(B) P4
(C) IRS 1A
(D) CARTOSAT .

46, SETe AR fAfen H= 230 oral T
(A) WA
(B) F=ien
(C) v e e
(D) =i=iaet

47, 20234 R (T4 SIS S TR

" IRYG—

(A) 27
(B) 28
(C) 29
(D) 30

48, (T SToAR TG HLETA 7o 2
(A) 9«
®) @+ &
(C) &t «fq
(D) e

49. <3 AF TS A ¢ B @ 1063, B8
C & o 12 BfE @R A e C W fiw 15 TR
wersjef T i | et oIS et e T A ol
T TS AFTE

() 8 TG
B) 6ﬁﬁt“r;

(C) 6 ﬁﬁcB
D) sﬁﬁﬁ"
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50. What is the sum of the first 100 odd natural
numbers?

(A) 10000
(B) 10650
(C) 15050
(D) None of the above

51. If (87'-6) is divided by 88, the remainder .

will be
(A) 5
B) 1
<) 81
(D) 87

52. Last Viceroy in India—
(A) Lord Canning
(B) Lord Linlithgow
- (C) Lord Mountbatten
(D) Lord Wavell

53. 4/20++/20+/25 = How much?

(A) 2
(B) 3
(S
D) 6

54, H%:%::K:%,thenK=Howmuch?

1
(A) 3
B) 2

21
© 7
D) 3

50. @< 100 Freie Rrere s =il wo?
(A) 10000
(B) 10650
(C) 15050

(D) Teiaa @IEHE 7

51. (87%-6)-(¢ 88 Bl Sl FAE BIBR T
(A) 5

®) 1
(©) 81
(D) 87

52, ST (18 ST —
(A) =16 Fifag
(B) =16 femfmaist
(C) =16 FeHIB
(D) =78 eqITS=

53, \/20'+\/20+«./2_5 = O

(A) 2
B) 3
© s
(D) 6

26 24 14
. kel S .= g, = ?
54 ﬂfﬁll.g..x B@wz«: IO
1
(A) 3
B) 2
21
(© 22
(D) 3

f



o

55. Which state is the largest producer of
sugarcane in India?

(A) Uttar Pradesh
(B) Maharashtra
(C) West Bengal
(D) Tamil Nadu

56. Which city of West Bengal is known as
_gateway to N. E. India? -

(A) Jalpaiguri
(B) Alipurduar
(C) Siliguri
(D) Coochbehar

57. ‘Mattavilasaprahasana’ was written by—
(A) Rashtrakuta King Dhruva
(B) Chola King Rajendra Chola
(C) Chalukya King Pulakesin
(D) Pallava King Mahendravarmana

58. Mahaparinirvana means—
(A) Enlightenment
(B) Dharmachakraproborton
(C) Leaving family
(D) Death of Lord Buddha

59. ‘Which country won Women's Emerging
Asia Cup in 20237

(A) Pakistan
(B) India
(C) Sri Lanka
(D) China

B-13
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55, SIRCSH (IR AI0EY ST S AT [T 2
(A) e
(B) =g
(C) siftpsrast
(D) wifiEg

56. RoAAEE (@ NI Ter-d wieed
TRl qe =R

(A) wEiRaefe
(®) St
(ORIGEN
(D) 5w

57. TeREPIT -aF IHRe—
(A) TETT A &
(B) (Bt& Fren qsd (Biet
(C) Sl E o=
(D) & e NI

58. SRR e
(A) @It =S
B) wioFaTes
(C) HAR il
D) T2 T

59, 2023~q (1 (7 Women’s Emerging Asia
Cup fererz?

(A) =S
(B) ©iF®
(C) S

(D) B
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60. Who writes story of another person’s life—
(A) Historian
(B) Biographer
(C) Chronicler
(D) Penman

61. Where does the Easternghat and
Westernghat (mountain range) meet?

(A) Nilgir
(B) Annamalai
(C) Aravalli
(D) Satpura

62. How many times will be some principal in
principal & interest in 10 years at 10% annual rate
of simple interest?

(A) 1—1— times
2

(B) 2times

© 2% times.

(D) 3 times

63. 4 years ago, the ratio of ages of father and
son was 9 : 2. The present age of the father is
40 years, What will be the present age of the son?

(A) 12 years
(B) 15 years
(C) 18 years
(D) 10 years -

64. Average of three numbers is 77. The first
number is twice of the second number and the
.second number is twice of the third number, Then
what is the first number?

(A) 132
(B) 144
(©) 120
D) 160

B-14

60. STTH € =ied Rf—
(A) afsafe

(B) sfaem

(C) wifRfermrar

D) Fforsa

61, ©INCS ¥ 8 ARGY B (sfowNETT)
AT —

(A) SEfE
(B) SAIETR
(C) wWRI=E
(D) o=@t

62. IRF 10% 219 =T 07 I SR 10 I8

-0 Toed A2
1
&) 151
(B) 204
1
(©) 25 o
(D) 3@

63. 4 37 oM el ¢ ofemm AT e
125192 | FHom$am 937 40 Tma &, s{r@q 69
I FTE e :

(A) 1232
(B) 153
(©) 183z
(D) 103=8

64. ToTB AL 1% 77 | AR 2 ey syeans
fRod ax R b vom suwig fed| o=
2 WIS Fo 2

(A) 132
(B) 144
(C) 120
(D) 160



65. What is the unit digit of (593) x (124)*?
(A) 8
(B) 6
© 4
D) 2

66. Last Governor General of India—
(A) Lord Canning
(B) Lord Ellenborough
(C) Chakravorty Rajagopalachari
(D) J. B. Kripalani

67. Which country has decided to ban mobiles, .

tablets and smart watches from classrooms in
20247

(A) China
(B) India
(C) Netherlands
(D) Japan

68. The ratio of lengths of twotrainsis 5: 4. The
ratio of times to cross a postis 4 : 3. Then what will
be the ratio of speeds of the two trains?

(A) 15:16
(B) 5:3
(C) 6:5
(D) 5:4

69. If the g.c.d. and the l.c.m. of two numbers;

are respectively 8 and 160, then the sum of the two . -

numbers will be , :
(A) 80
(B) 62
© 74
(D) 72

DMRI/22

65. (593)2 x (124)%-47 AT TE 9?7
(A) 8
(B) 6
(€) 4
D) 2

66. ©IFCOF (A NSHS (SICTET—
(A) &€ iR
(B) &6 «FwIAl
(C) TEae| ATAAIBIR
D) @. &

6. I AT FPIGP ( CeIRee) GRITRet Caoit, BIeio

8 5 s Fiim T70= 2024 (AT?
(&) B |
®) SIS
(C) I
(D) Bl

' 68. 1 G WG SIS S : 41 @3 4T
S A STAES TATS 4 : 31 OZEA G 7%
- sifSTate e N g
(A) 15:16
(B) 5:3
(C) 6:5
(D) 5:4

69. T AT A9, € FALES, YT 88 160
20, AN 5R CANiTE g o
(A) 80
(B) 62
() 74
(D) 72
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71. Who assumed the title ‘Chhatrapati’?
(A) Shivaji
(B) Baji Rao
(C) Dadaji Kondadev
(D) Shambhuji

72. The average of 20 numbers is 12. If the
average of the first 12 numbers is 11 and the

average of the next 7 numbers is 10, the lastnumber
will be

(A) 38
B) 36
(© 26
(D) 28

73. In an election, a candidate getting 60% of
votes defeats the opponent candidate by 298 votes.
Then total how many votes were polled in that
election?

' (A) 1600
(B) 1490
(© 1460
(D) 1540

1
L]
§
[

71. ‘=g’ wfSy Ruakew
A) P&
(B) qr&ans
(C) W& &l
(D) ==&t

|

' 72 2016 RYIF AT 12 | 2o 1215 s-yiw 1T 11
'ﬁﬁ*{ﬂm'fﬁw\w % 10 T, (419 Y1 TJ
(A) 38

(B) 36

(©) 26

(D) 28

73. &M 5w, 9 AT 60% coit cott aifa)

an%z%cw%w%@mlw@ﬁamm
e (o6 #irefee ¢

(A) 1600
(B) 1490
(C) 1460
(D) 1540




74. Thecostprice of an articleis rupees 620 and
itis 25% less than the marked price. If the article is
sold at 15% discount, then the percentage of profit

will be
(A) 14%%

%%

%%

%%

(B) 13
(©) 13

(D) 12

75, World’s highest rainfall—
(A) Chinna Kallar
(B) Pune
(C) Pasighat
(D) Mausynram

76. 1,8, 9, 64,725,216, ?
(A) 49
(B) 256
(C) 128
(D) 343

1 1

77. Thesmallestnumberamong 3% 9% 35 g6

is

78. Who was awared the first Noble Prize in .

India?
(A) Mother Teresa
(B) C.V.Raman
(C) Rabindranath Tagore
(D) Amartya Sen

B-17
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74. G0 LTI 620511 3R 61 MR
CRITF 25% T 1710 37 15% 2ee Rerg a1 2d, @
eT! #1S T

2

(&) 145%

%%

©) 13%%

%%

(B) 13
D) 12

75. Fdifte (Row) e @—
(A) fomt Tmla
(B) =
(C) ~ifaiB
(D) Glifw=
76. 1, 8,9, 64, 25,216, ?
(A) 49
(B) 256
(C) 128
(D) 343

3,99, 35
(A) 3%
(B) 9é
(©) 3§

7. 9é -7 WO FEOT R T —

1
D) 96

78. ORI (F 24F (I FFH oA 2
(A) TR G
(B) Fi.fe. amm
(C) FFTA T
(D) =) G
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79. ‘Poverty & Un-British rule in India’ was
written by—

(A) Ramesh Chandra Dutt
(B) M. G. Ranade

(C) Dadabhai Naoroji
(D) Amartya Sen

80. Who introduced Kabuliyat and Patta?
(A) Sher Afgan Khan
(B) Sher Shah
(C) Akbar
(D) Malik Ambar

81. What will be the value of angle between the

" hour-hand and minute-hand in a clock at dawn
4 am.?

(A) 90°
®) 150°
(C) 120°
(D) 110°

82. Chief Justice of Kolkata High Court—
(A) Justice Surya Kant
(B) Justice D.Y. Chandrachud
(C) Justice T.M. Sivagnanam
(D) None of them

83. Hiroshima Day is observed every year on
(A) 4th August
(B) 5th August
(C) 6th August
(D) 12th August

B-18

79. ‘Poverty & Un-British rule in India’-¥
Caiaﬁi_.
(A) TCMEE WG
(B) «. f&. widics
(C) ISR (T
(D) oI} O

80. TS @ A ol ILaA—
(A) (9 ST AW
(B) iy
(C) S=
(D) wifer ==

81. (1945 775 aftwe 951 ¢ REAG $HIgHa
; TS| (IR W TJ

(A) 90°
(B) 150°

i (C) 120°

(D) 110°

82. FEPIe QRCRIDA Ay [pasife—
(A) =% fare
(B) =iTow O. exi. vepy
(C) =% B.«w. R
(D) ToEa 0% T

83. eifsamy ‘R e «iifere =@
(A) 490 S5
(B) 5% HaFB
(©) 62 P
(D) 12% =%




84. Firstbattle of Tarain was fought between—
(A) SultanMahmud and Prithviraj Chauhan

(B) Muhammad Ghori and Prithviraj
Chauhan

(C) Babur and Ibrahim Lodi
(D) Akbar and Himu

85. The productof two numbersis 1575 and the

quotient is %, what are the two numbers?

(A) 45,35
(B) 81, 63
(©) 35,27
D) 36,35

86. Dakshin Gangotri, India’s first scientific
base station is in—

(A) Himalayas
(B) Indian Ocean
(C) Antarctica
(D) Kanyakumari

87. 12 people can finish a work in 4 days. How
many people will be needed to do 8 times of this
work in half of the time?

(A) 112 people
(B) 150 people
(C) 160 people
(D) 192 people

88. Thetotal equivalent discounts of 10%, 20%
and 30% serially on an article is

(A) 71.2%
B) 62%

(©) 60.4%
(D) 49.6%

B-19 DMRI/22
84. SAIAT AU Y@ FART—
(A) oI TT G3R 7| (GIRITIR T
(B) % (W1 4R A SRR g
(C) qI9E 932 TR i g
(D) =< =R RIS WG

85. 6 TR @A 1575 G ST %,ﬂaﬂn
w5 Ft Fie
(A) 45,35
(B) 81, 63
(©) 35,27
D) 36,35

86. TRl SN, SIFUSH LU (IRIWS &I GoXA
| W_
i (A) Rser
(B) &S TSN
(C) SroTow

(D) TR

87. 5 Pl 12 T e 4 BT o a0 #Aeae |
G 8 QY I GEST FAR TACS (AN TSG (FIS
G (R

(A) 1127
(B) 150
(C) 160 &
(D) 192%R

88. «3lb A BT AT 74T 10%, 20% 93 30%
(A) 71.2%
(B) 62%
(€) 60.4%
(D) 49.6%
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89. A and B together can finish a work in
10 days, B and C together can finish that work in
12 days and C and A together can finish the work

able to do the work?
(A) 10days
(B) 20days
(C) 30 days
(D) 40 days

90. Leader of Munda uprising—
(A) Joa Bhagat
(B) Sidhu
(C) Birsa
(D) Kanhu

91. In what proportion pure milk is mixed with
water to sell the mixed milk at its cost price having
25% profit?

(A) 4:1
®B) 3:2
{C) 3:1
(D) 5:4

92. Forest conservation can arrest—
(A) soil erosion
(B) pollution
(C) flood
(D) All of the above

2

93, If 4+ =0, whatis the value of x*?

1+

1
x+3

(A) -1
(B) 4
© 1
(D) 16

in 15 days. Then in how many days C alone will be

B-20

89. A B «TE G5 % 10 tw, B'@ C 3

G2 TR 12 Fm €3 C 6 A g ot 15 fE e
TS HAItd | SR C Gt 63 I TS R 905
ISR

(A) 10T
(B) 20 =
(©) 30w
(D) 40 M

90. ! R NF Aw—
(A) CoiTl S5t
B By,
(€) I
D) T

91, o T A e N =eiiee ks e
fafére v gy Rierw w90 25% = w3
(A) 4:1
(B) 3:2
(©) 3:1
(D) 5:4

92, I AFHEIT NG effordg TH—
(A) ghr
(B)
(©) .
(D) ©oam Fawg

93, 4+—2
I+

T =0T, x-4F I TS 2

x+a

3
(4) -1
(B) 4
© 1
(D) 16
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94. 'Who won Women’s Hockey 5s Asia Cupin
20237

{A) Pakistan
(B) Bangladesh
(C) India

(D) China

95. If the price of sugar increases by 20% and
10% respectively, what will be the percentage
increase on the total? .

(A) 20%
(B) 32%
(©) 40%
(D) 30%

96. Who was awarded SPINOZA prize 2023
for climate change work?

(A) Greta Thunberg
(B) Malala Yousafzai
(C) Joyeeta Gupta
(D) Rachel Carson

97. McMahon line as international boundary
between which two countries?

(A) India-Pakistan

(B) India-Bangladesh

(C) India~China

(D} India—Burma (Myanmar)

98. The ratio of income of two personsis 2 : 3
and the ratio of expenditure is 5 : 9. If both of the
two persons can save rupees 600 at the end of a
month, then what is the monthly income of the first
person?

(A) Rs. 1,600
(B) Rs. 1,200
(©) Rs. 1,800
(D) Rs. 2,000

DMRI/22

94, 2023-q R 2 55 Asia Cup e
W
(A) s
(B) e
(C) ©iF®
D) o=

95. R W AT %19 20% 8 10% I (AT (NGB
Toig *foadl Io g il ?
(A) 20%
@B) 32%
(C) 40%
(D) 30%

96. 2023-9 T ARFOER TR TR

SPINOZA =zid (Atsi—

(A) ¢t g’

(B) WAl RoHTEL
(C) Gftet @g

(D) T P

97, SPICAIEH TR (PR A6 (e S fevot
LAY

(A) SIEIS-siifFTH

B) SIS

(C) erre-5i

(D) SRS ()

98, W& T S TIAM 2 1 3 GR IWEF
RS 5 : 910 2 e METE i 600 51 T
T} A, OIZE AN e AT S 6 ¢

(A) 1,600 Bit
(B) 1,200 St
(C) 1,800 51
(D) 2,000 Bt
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99. International Women’s Day—
(A) FebruaryS‘
(B) March 8
(C) April 8
(D) December 8

100. 10 carpenters can make 6 almirahs in
7 days. Then how many days will take 21 carpenters
to make 18 almirahs?

(A) 10days
(B) 12 days
(C) 16 days
(D) 15 days

. 100, 109w e il 7 e 615 wemnf 3
.~ | O 21 T o il 3 faee 1815 wierwif
| IS HARR?

(A) 10
B) 12 7=
() 16 A

(D) 15 W@
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INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

This booklet consists of 24 pages including this front page, containing 100 questions. Verify the
Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice
any discrepancy.

Answers will have to be given in the OMR Sheet supplied for the purpose.

Before you proceed to mark in the OMR Sheet in response to various items in the Test Booklet,
you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will

result in error in your marks.

All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen.

One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encoded for a
particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

There will be negative marking for wrong answer. 0.25 mark for each wrong answer.

There are blank pages at the end of this Booklet for Rough Work.

The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall. You are not allowed to take away the used Test Booklet after completion
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31067 : Please Turn Over



|
)

DMRI/22

1.
P = How much?

(A) 190
B) 225
(C) 255
(D) 536

2. Which country won Women’s Emerging

Asia Cup in 20237

(A) Pakistan
(B) India
(C) Sri Lanka
(D) China

3. If (87'-6) is divided by 88, the remainder
will be

(A) 5 LA
(B) 1
©) 81
@) 87 .

4. How many times will be some principal in
principal & interest in 10 years at 10% annual rate
of simple interest?

(A) 1% times
(B) 2times

1 .
(© 25 times
(D) 3times

3. The product of two numbers is 1575 and the

. quotient is %, what are the two numbers?

(A) 45,35
(B) 81, 63
(C) 35,27
(D) 36,35

sy

C-2

XX
(A) 190 '
(B) 225

(C) 255
(D) 536

2. 2023-9 (¥ ¢ Women’s Emerging Asia
Cup fererz?

@ (A) ity
(B) ©iw
ﬂ (C) Ber=l
S (D) B

P
3 3,871 6)-= 88 Al ©1% T TN T
RNV

st

Gtk (B) 1

(C) 81
(D) 87

‘ 4. IR 10% 2= 9= K AT 10 T2
- FOR A2

BN 1% ad

Sy

(B)- 2 &t
1

©) 25 e

(D) -3‘N§°T

5. b A S 1575 s 2,
5o S ;e
(A) 45,35
(B) 81, 63
(C) 35,27
(D) 36,35
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6. CTGIREEM TRHHT (3 Fioiw

6. Metropolitan Institution was founded by—
(A) Ram Mohan Roy

(A) TGRS

(g) f:;var thanlc)iraffvidyasagar (B) v fRwliisE

ED; Na?)j::;p: I\;itra © i
(D) Lot filg

7. Who won Women’s Hockey 5s Asia Cup in 7. 2023-q WA F 55 Asia Cup RE

20237 F—
(A) Pakistan (A) AT
(B) Bangladesh o
(C) India (®B) <iereet
(D) China () ors
(D) B

8. McMahon line as international boundary
between which two countries?

®RCA?
(A) India-Pakistan s @ 3
ife sire-sifTEN
(B) India-Bangladesh :
)
(C) India-China ®) AL
(C) ©rE-BF

(D) India-Burma (Myanmar)
(D) Sige-anrt (FrmH=)

Ty p

9. Who writes story of another person’s life— 9, SIS Gianl e Rfi—

(A) Historian (A) Genitre
(B) Biographer (B) vRwwE
(C) Chronicler Rf
(D) Penman © '
(D) Fea

~

10. ‘Mattavilasaprahasana’ was written by—

10. “TefEmeziT 937 Iwie—

(A) Rashtrakuta King Dhruva T (A) TTTE T &4
(B) Chola King Rajendra Chola (B) (51 TGl Aivees (Bl
(C) Chalukya King Pulakesin (C) BERT I AN
(D) Pallava King Mahendravarmana )

(D) =R e NI

Please Turn Over
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11. What is the unit digit of (593)% x (124)%?

(A) 8
®B) 6
€ 4
D) 2

12, Mahaparinirvana means—
(A) Enlightenment
(B) Dharmachakraproborton
(C) Leaving family
(D) Death of Lord Buddha

13. Last Governor General of India—
(A) Lord Canning
(B) Lord Ellenborough
(C) Chakravorty Rajagdpalachari
(D) I.B. Kripalani 5

-5

14. The percentage measurement of water is
20% in 70 litres mixture of milk and water. How
much litres water should be added in the mixture,
so that the percentage measurement of water
becomes 30% in the mixture?

(A) 15 litres
(B) 10 litres
{(C) 20 litres

(D) 25 litres

15. A cricketer had a certain average of runs
up to his 64 innings. But the average runs of the
innings gets down by 2 runs on becoming out at
zero in the 65th'innings. Then what is his present
average of runs?

A) 130
(B) 128
© 64

(D) 120

11. (593)% x (124)%*-97 9T 9T TO?
A) 8
®) 6
(©) 4
@2

12. seifafadia Fte
(A) (ifg =iie
B) wivwreed
(C) AT wpial
(D) T 7Y

13. SIA0eF (R AT @IHT—
(A) =16 fee
(B) =16 e
(C) &S ATNAABIR
(D) c=. R, ot

14. 70 o g4 @ TR e wEm el
AR 20% | Feifors =ime T HoE oE et
A, WS RHIfrs otemm <ot «Afdwd 30% = e
C (A) 15%0R

(B) 10 =5/
(C) 20
(D) 25 ==

15. @3 {&FROIET 64 WA o1 a7l FfFE
AT 515 Bt | g 650 B A A wiTs
QG G *1 T 2 T TR | SIFF O T
NG e T2 : '

(A) 130
(B) 128
(C) 64
(D) 120




16. President of India is elected by—

(A) elected members of Lok Sabha,
RajyaSabhaand all the state Assembly

(B) elected members of Lok Sabha
(C) elected members of Rajya Sabha
(D) elected members of all state Assembly

17. IfAis10%]less ofr]ﬁ and B is 10% more than
900, then what is the value of A?

(A) 660
(B) 800
(C) 891
(D) None of the above

18. Name of the book written by Kautilya—
(A) Indica
(B) Suryasiddhanta
(C) Arthasashtra
(D) Mudrarakshasa

19. A dwelling in which soldiers live—
(A) Camps
(B) Barracks
(C) Tents
(D) Fort

20. Thesmallestnumberarnong 3% 9% 3é g

is

=

1
(a) 33

DMRI/22

16, S TS e z7—
(A) FRSTS!, ArERTe! e TrERTeatE
(B) et fAsiifbe ey =
(C) Fepei F<ifos s =gl
(D) 7oy Refrretsfm R wwp aa

4

17. I A, B-99 10% F9 28 98 B, 900-493 (5
10% @ =¥, ©@ A-F TN F97?
(A) 660
(B) 800
(C) 891 :
(D) ©oia @iile o

18, Iy, ids agfbd A—
(A) 3w
(B) “FFare
(©) 9FE
D) @
I",a:.sh}_;_
19, GRIFRPL
(A) o=t
(B) =

(C) G5 ($R)
D) 75

1 1" 1
20. 53 g3 35, o6 I WG FES Y] T —
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21. What is the sum of the first 100 odd natural
numbers? ’

(A) 10000
(B) 10650
(C) 15050
(D) None of the above

22. Universal blood doner group—
(A) Group A
(B) Group B
(C) Group AB
(D) Group O

23. Which city of West Bengal is known as
gateway fo N, E. India?

(A) Jalpaiguri

(B) Alipurduar nEE
(C) Siliguri ki
(D} Coochbehar

vy
R

24. If the price of sugar increases by 20% and
10% respectively, what will be the percentage
increase on the total?

(A) 20%
(B) 32%
(C) 40%
(D) 30%

25. Average of three numbers is 77. The first
number is twice of the second number and the
second number is twice of the third number, Then
what is the first number?

(A) 132
(B) 144
(©) 120
(D) 160

C-6

21. @29 100f% Freife Rree Jipg 7 o ¢
(A) 10000
(B) 10650
(C) 15050

(D) ©oita @IEAIHE 7

22. (TR ST TG FLGN 7ol ?
(A) =5t 9
(B) oot f&
(C) o4 <7
(D) 258

23. AfSaRTET (@ 2T Ge-ed erRTed
Al LI T
(A) TEeiiRef
T (B) =
(©) MiEefe
(D) pRR™

24, DRI 217 19 20% '€ 10% I (ot e
Boix AoTal T Yfa e
(A) 20%
(B) 32%
(C) 40%
(D) 30%

25, TofoaRaia o1g 77 | 2w s RSy
fawd @3z St Al gt ki Red | o
2 R w?

(A) 132
(B) 144
(C) 120
(D) 160




26. A 70 metres long train in a speed of
75 km/hour will cross a 105 metres long bridge in
time.

(A) 2—;— seconds
2

(B) SE seconds
2

(©) 93 seconds

(D) 18%- seconds

27. Who was awared the first Noble Prize in
India?

(A) Mother Teresa

(B) C.V.Raman

(C) Rabindranath Tagore
(D) Amartya Sen

28. Dyarchy was introduced in Bengal by—
(A) Robert Clive
(B) Warren Hastings
(C) Lord Wellesley
(D) Loxd Dalhousie

29. Find out the value:

777% + 12 v 12 12

5 5 5
(A) 3110

(B) 3018
(C) 3000
(D) 3108

30. The population ofa village is 67,600. If 4%
of population increases every year in the village,
then what was the population of the village 2 years
ago?

(A) 64,500
(B) 62,400
(©) 62,500
(D) 65,100

*7———
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26. G0 76&%@?«1@‘1@3‘6@? 75 Bl @t
105 fBr o7t b e #1192 AW AA

(A) zé- D
(B) 3% TS

(©) 9% TS

D) 18% TS

27. ©igeqd CF 2 HIE 7T S
(A) TmiE Gfae
(B) f.fs. am
(C) TN TR
(D) =¥} G

28. I (A 26 FCa
(A) 710 Fize
(B) eaeEw @F6H
(C) =76 ST
(D) =16 TP
I

29, i [y T ¢

7t e 112 v 173 1

5 5 5 5
(A) 3110

(B) 3018
(C) 3000
(D) 3108

30. GF6 ST TSN EIRRY 67,600 & | W
ST &S TuH 4% FCE FEIPRAL 3% A, $3 2 9=
el €% AR IR T fewe

(A) 64,500
" (B) 62,400
(C) 62,500
(D) 65,100
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31. A, B and C start a joint business. At the end
of the year, A gets %portion of dividend, B gets
1 portion of dividend and C gets rupees 4,900.

4 .
What was the total profit in the business?

(A) Rs. 12,000
(B) Rs. 14,000
(C) Rs. 15,000
(D) Rs. 10,000

32, If the g.c.d. and the l.c.m, of two numbers

are respectively 8 and 160, then the sum of the two
numbers will be

(A) 80

B) 62

(C) 74 .

(D) 72 P

17

33. Who is the youngest mountaineer in the
world and first from India to climb both Seven
Summits and Volcanic Seven Summits?

-(A) AmulyaSen . A
(B) Bachendri Pal
(C) Basanta Singh Roy
(D) Satyarup Siddhanta

31. A,B¢ caﬁc‘ﬁrwww-ﬁmwm

- AT g e, B AT - L e i 9 C

4900m¢1m|wmﬁwm@mﬁw
(A) 12,000 Biest
(B) 14,000 5t
(C) 15,000 Bi=pt
(D) 10,0005

32, '5f5 I AALS. ¢ FAL. IVFH 88 160
T, 1 gfow Ao &1
(A) 80
(B) 62
(©) 74
o) 72

33, R g @3 SIRed A9 oA
ﬁﬁmmmﬁ%ewmﬁﬁmmﬂrﬁﬁmq
m—

(A) S G

(B) M =

(C) @ Pig am
. (D) Torshel Frare




35. Who invented computer?

C9

DMRI/22

35. IFACHR SR FEm—

(A) Otto Hahn (A) B! 2

(B) Niels Bohr (B) WMl RiE

(C) Howard Eitkin (C) 2eTE GBReA ‘
(D) Charles Babbage (D) BIFF [

36. Loktak lake is situated in

36. PO FF SRS

(A) Nagaland (A) wHisileticSs
(B) Arunachal Pradesh (B) Srelioe] At
(C) Manipur (©) :;ﬁsi@

37. Who assumed the title ‘Chhatrapati’?

37. ‘meife’ wfsy Mwmm

(A) Shivaji ( Aj s
®) Bajil.l.ao (B) ?l'lal'ﬂ\'i
(C) Dadaji Kondadev © &
(D) Shambhuji

@) *=&

38. 10 & 1059 Ry 7 Tt 615 wiefd amne
A | IR 21 T o7 R e ISﬁWﬂTﬁ

38. 10 carpenters can make 6 almirahs in
7 days. Then how many days will take 21 carpenters
to make 18 almirahs?

q|ITe «large
(A) 10days (A) 10%E
(B) 12 days ®) 12 %
(C) 16 days -
D) 154 (©) 16w
s (D) 15 F=
39, If 44— 2 =0, whatisthe value of 22 39. 4+ 21 = 020, X9 T T2
1+ 1 1+ 1
I+§ x+-§
(A) -1 ) A -1
(B) 4 (B) 4
© 1 ©1
®) 16 '

(D) 16

Please Turn Over




DMRI/22

40. India’s first Remote Sensing Satellite—
(A) P6
(B) P4
(C) IRS 1A
(D) CARTOSAT

41. For agricultural and rural development,
Apex Bank is— ‘

(A) Reserve Bank of India
(B) State Bank of India
(C) NABARD

(D) Bank of India

42. Afamous musician in the:court of Akbar—
(A) Tansen s OTE R,
(B) Abdul Latif
(C) Tulsidas’
(D) Abdus Samad

43. Crocodile Tears meaning—
(A) Tears from animals
(B) Painful expression
(C) False tear
(D) None of the above

44, Leader of Munda uprising—
(A) Joa Bhagat
(B) Sidhu
(C) Birsa
(D) Kanhu

C-10

40. ©ETeR W oM GARR GRS (7
SRR SoieE)—
(A) P6
(B) P4
(C) IRS 1A
(D) CARTOSAT

41. IR 4R et B BoiCsS TF @ —
(A) Torers s =11 3Rt
(B) G55 TIF o< el
(C) ARE
(D) T = 3R

w42, PRI FEPTOR [Pl TRrow—
(A) TN
(B) o= fow
(&R-guiny
(D) ST SAF

43. =T PR wd—
(A) difitm T
(B) T3 Hfouie
(O %
(D) BAREE IR 7

4. 79! REanzg s Ao—
(A) = ©ote
®) By
(C) St
D) =g



45. In what proportion pure milk is mixed w1ti{
water to sell the mixed m11k at its cost price havmg ¢
25% profit?

(A) 4:1
(B) 3:2
© 3:1 K
(D) 5:4

2

46. If rupees 42 is the difference of i mterest ofk%;
some amount of principal between 3 and 4 years at,g, 5
5% annual rate of simple interest, what is theg 7
amount of principal?

(A) Rs. 800
(B) Rs. 840
(C) Rs. 900
(D) Rs. 620

" 47. Buying 5 eggs atrupees 10, sells 10 egés at
rupees 5, then what is the rate of loss? '

(A) 75%
(B) 50%
(C) 80%
D) 100%

e

48. Who renamed Calcutta as Alinagar? .,
(A) Alivardi Khan ;
(B) Murshid Quli Khan
(C) Sirajuddaulah :
(D) Mir Qasim '

49, Whoisthe Director General of Indian Coast
Guard?

’ (A) Sanjay Jasjit Singh
(B) Ajay Kochhar
(C) Ram Das Katari
(D) Rakesh Pal

o DMRI/22

45. 6 quag MY o= N s e wwE
Taifdrs wx T Rew 361 25% &6 712
(A) 4:1
B) 3:2
© 3:1
D) 5:4

46. R 5% e Fora e g wiftl ATt
3 TR 8 4 ILF OR ANRY 42 51 T, SR
=i Tee

-(A) 800 Bt
(B) 8407Ti%l
(C) 900 Bt
(D) 620 B

47. 10 5157 oo oy a5 S 10% fw
R w0, =ioq 99 vor :

(A) 75%

®B) 50%

(C) 80%

(D) 100%

48. Wwwﬁaﬂa@wﬁiﬁﬂ
(A) iR 4=
(B) gl <A
(C) Pt
D) i

49, ©IRUST ToigE FRRIRAR rwga o=
(RAEBIETE) (e

(A) weR sfeR Picg
(B) S&T (IR

(C) i vl
(D) A

Please Turn Over
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50. Who was awarded 2023 SASTRA
RAMANUIJAN in Mathematics?

(A) Roger Penrose
(B) Katherine Johnson

- (©) Ruixiang Zhang
(D) John Conway

51. The product of three consecutive natural
numbers is 120. What is the sum of the three
numbers?

(A) 9
(B) 15
©) 12
(D) 14

52. What is the difference between compound
interest and simple interest of rupees 5,000 in
2 years at 8% annual rate of interest?

(A) 64
B) 26
(©) 52
@) 32 ,

53. 20+\f20+\/2_5 = How much?
(A) 2
B) 3
© 5
(D) 6

54. Brass is made of following metals:
(A) Iron-Copper
(B) Copper-Tin
(C) Copper-Aluminium
(D) Copper-Zinc '

C-12

50. sfffts 2023 SASTRA RAMANUJAN
HTHD CATA—
(A) T CATTN
(B) e A
(C) =3RRI

(D) gdq o™

51, 7 o3 fen arelide wre My @ 120,
1 feRiGe et ae 2 '
(A) 9
B) 15
(€) 12
(D) 14

52, ARE 8% S T 5,000 B 2 IR
Bl M 8 e I G FO ?
(A) 64
(B) 26
(©) 52
(D) 32

53, \/20+\/20+\/E = FG?

A) 2
(B) 3
© 5
(D) 6

54, ron 2 FITRIG 4IgaTEs KT ¢
(A) cz-st
(B) -6
(C) Sr-wpEyfiiwgs

(D) oE-wt




55, The average of 20 numbers is 12. If the
average of the first 12 numbers is 11 and the
average of thenext 7 numbersis 10, the last number
will be

(A) 38
(B) 36
©) 26
(D) 28

56. A and B together can finish a work in
10 days, B and C together can finish that work in
12 days and C and A together can finish the work
in 15 days. Then in how many days C alone will be
able to do the work?

(A) 10 days
(B) 20 days
(C) 30days
(D) 40 days

57. World’s highest rainfall—
(A) Chinna Kallar
(B) Pune
(C) Pasighat
(D) Mausynram

58. Whatwill be the compound interestof rupees

900 in 2% years at 5% anmnal rate of interest?

(A) 103-28
(B) 11020
(C) 104-50
D) 102-16

C-13
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55, 2070 3w otw 121 299 1216 7e0iF 91w 11
32, AT 716 AT 91w 10 =6+, 1R A T

(A) 38
(B) 36 °
(C) 26
D) 28

56. A8 B yFq 935 F1e 10 i, B 8 C 4t
G FIEs 12 9R C 8 A SFETED 15 T 18
TS G | SigF C G5t @3 Fiwh T Me Fa00
A7

(A) 10 =
(B) 20 faw
(€) 30fe
(D) 40 fae

57. wifE (o) gfesie za—
(A) Tt wata
B) A=
(C) ~ifafG
(D) cnfmam

58. IR 5% 2T 00T 2% ST o
I T TA?
(A) 10328
(B) 11020
(C) 104-50
D) 10216
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59. Chief Justice of Kolkata High Court—
(A) Justice Surya Kant: .
(B) Justice D.Y. Chandrachud
(C) Justice T. M. Sivagnanam
{D) None of them

60. Where in India different types of Corals are
seen?

(A) Sundarban
(B) Kerala

(C) Daman & Diu
(D) Lakshadweep

61. An empty tank is water-filled by A and B
pipesin 10 minutes, by B and C pipesin 12 minutes
and by A and C pipes in 15 minutes. In how much
time the three pipes together Will fulfil the empty
tank with water? oI

(A) 8 minutes

(B) 6 minutes
(O G—é—minutes
(D) 5 minutes .

62. International Women’s Day—
(A) February 8
(B) March 8
(C) April 8
(D) December 8

- 63. Only metal that is liquid at normal
temperature—

(A) Gold
(B) Zinc
{C) Copper
(D) Mercury

C-14

59. <Tlel QR 2l RemAfe—
(A) wiFeH et
(B) =I5 f&. e7iz. vepe
(€) =i 6. . P
(D) ©ow@T @O A

60. Siares Pl Rfw 4aeT efaie ot e
(A) 9
(B) G
(C) W ¢ a8
(D) =i

61, 9B YIfF1 5% A @ B =+ e 10 /G, B s
C w1 T 12 R @32 A e C &1 Tuw 15 Rfeds
TEsfl R AW | T oAb e o e < BrEl
TS TACO SN

(A) 8 v

(B) 6 [
o (O G%ﬁﬁfﬁ
(D) 5 &%

T

62, SiwEfeT W fMPi—
(A) 8 F=al
(B) 86 -
(C) 8 «fsa
(D) 8 fewres

63. 4T 4P T FCIRT SNy ©Fe] SRFW

A—

T A e
(B) vl
(C) ==
(D) “fw

3



64. Which Five Year Plan (India) focused on
the development of heavy industry?

(A) First Five Year Plan
(B) Second Five Year Plan
(C) Third Five Year Plan
(D) Fifth Five Year Plan

65. The product of two consecutive numbers is
| 1980, what is the smallest number?

| (A) 33
| ®) 44
| (©) 35

(D) 55

66. Last Viceroy in India—

" (A) Lord Canning
(B) Lord Linlithgow
(C) Lord Mountbatten
(D) Lord Wavell

e

67. Thecostpriceof anarticleisrupees 620 and
itis 25% less than the marked price. If the article is
sold at 15% discount, then the percentage of profit
will be

| (A) 14%%

®) 1329
5

©) 13%%
2

* @) 122%

68. The ratio of income of two personsis2:3
and the ratio of expenditure is 5 : 9. If both of the
two persons can save rupees 600 at the end of a
month, then what is the monthly income of the first
person?

(A) Rs. 1,600
(B) Rs. 1,200
(C) Rs. 1,800
(D) Rs. 2,000

C-15
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64. SIATT @A RS sifFmmm = P
et www crew Tl 2
(A) 2T AR AT
(B) fasRt Azl wifaemmt
(C) oI “izaiASH “Afwm
(D) =ivm AR A

65. #% +19 b AT Qe 1980 T, TN
e e

(A) 33 _
(B) 44
©) 35
(D) 55

66. SIS (17 ST —
(A) 7T iR
(B) =16 femfFast
(C) &E JISTNEBA
(D) =16 eTires

67. B HCUT I 620 519 3R G TR
(AT 25% 9 17316 7 15% Qe a1 28, o
e TS I

(A) 14%%
(B) 13%%
1
©) 135%
D) 12%%

68. & TS SEa Sqaie 2 : 3 GR IqBH
A 5 2 917 4 JIE M I 600 51 I
G I, SIFE 24N e T wiw Fo2

(A) 1,600 Bt
(B) 1,200 Bzt
(€) 1,800 5=t
(D) 2,000 B
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69. Which state’ was previously known as
NEFA?

(A) Nagaland
(B) Manipur
(C) Mizoram
(D) Arunachal Pradesh

70. Tn an election, a candidate getting 60% of
votes defeats the opponent candidate by 298 votes.
Then total how many votes were polled in that
election?

(A) 1600
®B) 1490
(C) 1460
(D) 1540

71. Which state is the largest producer of
sugarcane in India?

(A) Uttar Pradesh
(B) Mahaurashtra
(C) West Bengal
(D) Tamil Nadu

72, A train goes 10 km distance in 12 minutes.
If the speed of the train decreases 10 km/hour, then
how much time will be needed for the train to go
that distance?

(A) 20 minutes
(B) 10 minntes
(C) 15 minittes
(D) 25 minutes

73. How many Gold Medals won by India in
Asian Games, 2023?

(A) 27
(B) 28
(©) 29
(D) 30

C-16

69. Fefis arerefr sy @i S NEFA
Mo Ao fase :
(A) TS
‘®) s
(C) fitsam
(D) SRFeloeT &

70. 275 Friiom, @< 2Nl 60% CSib st o)y
21Tt 298 CSIE #AIRSe TE | o= <2 o @iG
TS (S TSR ?

(A) 1600
(B) 1490
(C) 1460
(D) 1540

71. SRS QN ST SIS SN TG @ 2
(A) Tegemm
(B) V=g
(C) “AFoa%
(D) STy

72. «&% @7 10 W =g 3w 12 FlG) W
Goa siferaet 10 [hi/a6t 3t T, = 92 @w
@O GHLT TO I3F I 2

(A) 20 fif6
(B) 10 fif5
(©) 155G
(D) 25 f3fe

73,7 2023-9 SRR (-4 ST QG R AT
RA—

(A) 27
(B) 28
(©) 29
(D) 30
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74. 1,8, 9, 64, 25, 216, ?
(A) 49
(B) 256
(C) 128
(D) 343

75. A tank filled with water is made empty by
two pipes in 6 hours and 10 hours respectively.
What portion of the tank will be remained water-
filled after 2 hours on opening the two pipes
together?

8 .
(A) G portion

7
B) 15 portion .
© % portion

(D) % portion

76. Dakshin Gangotri, India’s first scientific
base station 1s in—

(A) Himalayas
(B) Indian QOcean
(C) Antarctica
(D) Kanyakumart

77. “Poverty & Un-British rule in India’ was v
written by—

(A) Ramesh Chandra Dutt
(B) M. G. Ranade

(C) Dadabhai Naoroji
(D) Amartya Sen

78. Thetotal equivalentdiscounts of 10%,20%
and 30% serially on an article is

(A) 71.2%
(B) 62%

(C) 60.4%
(D) 49.6%

74. 1,8, 9, 64, 25,216, ?
(A) 49 '
B) 256
(C) 128
(D) 343

75. «f5 wEs) Brrx it W ey T iert 6 9% e
10 951 Afe 1 AW @B @I YE HSTR
29! mmﬁavw\w@mﬁfw'a

(A) - W”“l‘
(B) ——Wx“f
© <

(D) 1 e

76. WwF ST, SIATOF AL (IWMTE @ GFH
SRAT—
(A) T
(B) ©I@ TP
(C) SIoEHe

. (D) T

77. ‘Poverty & Un-British rule in India’-a
m_
(A) ICIBH 7S
B) o= & e
(C) WIS (T
(D) =€) G

78. O3f> T BiF 27 517 10%, 20% 933 30%

(A) 71.2%
B) 62%
(€) 60.4%
(D) 49.6%
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79. Foreét conservation can arrest—
(A) soil erosion -
(B) pollution
(C) flood
(D) All of the above

80. Which is the highest number of six digits
dividedby 7,12, 5 and 15 remaining theremainders
5, 10, 3 and 13 respectively?

(A) 999608
. (B) 999598
(C) 999600
(D) 999500

81. 12 people can finish a work in 4 days. How
many people will be needed to do 8 times of this
work in half of the time? _

(A) 112people
(B) 150 people
(C) 160 people
(D) 192 people

82. Firstbattle of Tarain was fought between—
(A) SultanMahmudandPrithviraj Chauhan

(B) Muhammad Ghori and Pr1thv1ra_)
Chauhan

{C) Babur and Tbrahim Lodi
{D) Akbar and Himu

83. If?'—szz4 K 14 , then K=How much?
11 9 13’
1
(A) 3
(B) 2
21
© o7

(D) 3

79. I FRITFEL MG AfSTAY TH—
(A) gire
(B) 734
(C) 30!
(D) oitaa TR

80. 210 (P TSI RANT 7, 12, 5@ 1531
ol AT FAGF S, 10, 3@ 13 Sieiead A2
(A) 999608
(B) 999598
(C) 999600
(D) 999500

81, «HfG 3 12 57 (=116 4 T oofa AT ST |
i 8 @ TIF WHF FIF I (I TOTH @
Kkt
' (A) 1127
(B) 150%m
(C) 160

i (D) 192%A

82. SARA A I LARA—
(A) FTOIR WM GR S| RIS
(B) W% CAIE! G S{{Yare (SIRTa g
(C) JIFF 93 33N IR g
(D) WFA GR BEWE

83. 111%26 294 K—???I, = TG

(A) 3
(B) 2
21
© 5
(D) 3




84, What digit is to be put in the ‘*’ marked
place to get the number 5432*7 divisible by 9?7

(A 0
B) 1
© 6
D)9

85. Human skin tone is governed by the
pigment—
(A) Melanin
(B) Silicon
(C) Insulin
(D) None of the above

86. A train crosses a lamp-post in 10 seconds

and crosses a S0 metres long platformin 14 seconds.

Then what will be the speed of the train in an hour?
(A) 60 km/hour
(B) 45 km/hour
(C) 30 km/hour
(D) 40 kin/hour

87. Theratiooflengths of twotrainsis5: 4, The
ratio of times to cross a postis 4 : 3. Then what will
be the ratio of speeds of the two trains?

(A) 15:16
(B) 5:3
(C) 6:5
(D) 5:4

88. Where does the Easternghat and
Westernghat (mountain range) meet?

(A) Nilgiri
B) Annamalai
(C) Aravaili
(D) Satpura

¥
i
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84, 5 T G STF A 5432%7 il 97
rerey 3@ e
(A) O
®B) 1
©) 6
(D) 9

85. SRFAT MEA IR (MG ST A St
Torg— .
(A) CTEIfRE
(B) Fferm
(C) Tifem
(D) Tl @GR =

86. <DL (G GFL TA-(AFHD 10 GTICT G
50 o[ thesie B 14 CTA0D Sioers 3(d |
©iE G 9o Fe i aiferae @

(A) 60 ffsi/ae5t
(B) 45 f&fi/a5!
(©) 30 fhi a6
(D) 40 /a6

87. 46 GUTS M0 SATS S : 41 @36 I/
SO TR AR A 4 : 3 | OlgA G 7oq
SR Tsire F 7J 2

(A) 15:16
B) 5:3
©) 6:5
D) 5:4

88. ©ITe o7 ¢ #ARSY WEF (siFOAAR)
AN —

INEGIRIES
(B) SIHMIEIR
(C) wIFR=
(D) e
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89. Which country has decided to ban mobiles,

tablets and smart watches from classrooms in
20247

(A) China

(B) India

(C) Netherlands
° (D) Japan

90. 4 years ago, the ratio of ages of father and
son was 9 : 2. The present age of the father is
40 years. What will be the present age of the son?

(A) 12 years
(B) 15 years
(C) 18 years
(D) 10 years

91. Who was awarded SPINOZA prize 2023
for climate change work?1:¢ -

(A) Greta Thunberg
(B) Malaia Yousafzai
(C) Joyeeta Gupta
(D) Rachel Carsop, ;. -

92. What is the average of the cubes of
consecutive even natural numbers from 1 to 257

(A) 5200
(B) 4240
(C) 4056
(D) 4628

93. Saltreeis
(A) Coniferous
(B) Evergreen
(C©) Mangrove
(D) Deciduous

89. (I (P IH (AT GUaiRe o=, BIiReTe
8 =5 @6 Wflw Fa= 2024 (T2

(A) B
(B) oIS

(C) =g
(D) e

90. 4 T WA POl @ *aq TWER TS
&9 2 | FPioia T T 40 T2 2, *{aF TN
T T =AY

(A) 1298
(B) 15 7=
(O 18 =T
(D) 10927

91. 20239 TRR ~RROEAT TAg s
SPINOZA =5 (tT—

(A) 26T el

92. 1 (AT 25 1% 79 19 (ST FreiiRT MU
AL TG TO? -

(A) 5200
(B) 4240
(C) 4056
(D) 4628

© 93, W PE
@A) TN
(B) Brr®
(C) Fare
(D) oHefeitt
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94. Who introduced Kabuliyat and Patta?
(A) Sher Afgan Khan
(B) Sher Shah
(C) Akbar
(D) Malik Ambar

95. If 26th day of March of 2019 is Tuesday,
what day will be 26th day of March of 20227

(A) Saturday
(B) Sunday
(C) Thursday
(D) Wednesday

96. ‘Sarbodhinayaka’ or Head of Tamralipta
Jatiya Sarkar—

(A) Sushil Kumar Dhara .-
(B) Satish Chandra Samanta

(©) Ajoy Kumar Mukhopadhyay
(D) Amulya Charan Maity -

97. What will be the value of angle between the
hour-hand and minute-hand in a clock at dawn
4 a.m.?

(A) 90°
(B) 150°
(©) 120°
(D) 110°

98. What is the value of

0-835x0-835x0-835+0165% 0165x 0165 ,
0-835x0835-0-835% 0165+ 0165x0-165 °

(A) 067
B) 1
(C) 0-138
D) 2

94, TS @ A IpAl FEA—
(A) O SIS A
(B) o= Mg,
(C) wiFd
(D) R eraa

95. 2019 FEa 2601 M6 WwETara 5gE, 2022
AT 2607 6 NI gA?

(A) =far
(B) Ffka=
(C) e

(D) 3™

96. SIFTEIY TS FIPIIF AL RIS fore
(A) 1T TR 41!
(B) FOMbH A .
(C) ©IoTd TIIF TRAUAGIT
(D) SIETsat RS

~

97. Cotd 4519 T 4fte w951 6 ST Hhi e
TS (IR T T
(A) 90°
(B) 150°
(©) 120°
(D) 110°

0-835%0-835x (-835+ 0165 x 0-165 % 0165
0-835x0-835—-0-835x0-165+0-165%x0-165

43 W TS 2
(A) 0-67
B) 1
(C) 0-138
D) 2

98.
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99. Evaluate the smallest number which is
completely divisible by 18, 30, 21 and 12 if it is
made thrice.

(A) 420
(B) 360
(C) 520
D) 660

100. Hiroshima Day is observed every year on
(A) 4th August
(B) 5th August
(C) 6th August
(D) 12th August

C-22

99, =y e ey T T foned FaE
© 18, 30, 21 '8 12 @A ¥} Reteg 1|

(A) 420
(B) 360
(C) 520
D) 660

100. =fsTer RraiFm U sfcre e
_ (A) 45t =65
(B) 5% 155
(C) 62 ISHT
(D) 12% wo%
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DO NOT OPEN THIS BOOKLET UNTIL YOU ARE ASKED TO DO SO.
2022

SOERlING. ...t Roll No.:

Signature of the Candidate:

INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

1.

This booklet consists of 24 pages including this front page, containing 100 questions. Verify the
Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice
any discrepancy.

Answers will have to be given in the OMR Sheet supplied for the purpose.

Before you proceed to mark in the OMR Sheet in response to various items in the Test Booklet,
you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will
result in error in your marks.

All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen.

One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encoded for a
particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

There will be negative marking for wrong answer. 0.25 mark for each wrong answer.

There are blank pages at the end of this Booklet for Rough Work.

The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall. You are not allowed to take away the used Test Booklet after completion
of the examination.
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1. ‘Mattavilasaprahasana’ was written by—
(A) Rashtrakuta King Dhruva
(B) Chola King Rajendra Chola
(C) Chalukya King Pulakesin
(D) Pallava King Mahendravarmana

2. Name of the book written by Kautilya—
" (A) Indica

(B) Suryasiddhanta

(C) Arthasashtra

(D) Mudrarakshasa

3. A tank filled with water is made empty by
two pipes in 6 hours and 10 hours respectively.
What portion of the tank will be remained water-
filled after 2 hours on opening the two pipes
together?

8 .
(A) 5 portion

7 .
®) 5 portion
©) % portion

D) % portion

4. Which state is the largest producer of
sugarcane in India?

(A) Uttar Pradesh
(B) Maharashtra
(C) West Bengal
(D) Tamil Nadu

5. Metropolitan Institution was founded by—
(A) Ram Mohan Roy
(B) Iswar Chandra Vidyasagar
{C) Alexander Duff
(D) Nabagopal Mitra

1. VeRenHeam-93 IHiHe—
(A) TG e £
(B) (OIET JieH TSI (HY
(C) SR Afenl et
(D) & e NI

WL

2. s e agiog Im—
A) e
B) EFme
(C) =iy
(D) EEE

3. 9%{b el G b 7 M Iw 6 7B e

10 9517 AifeT 71 W | TG G YH @SR
2 951 TR GIFloR o S wasje ARp 2

8
15
7

(B) 5 Ayl

() % et

(D) -é— 2R

(A) SR

4. OIS (P ST WD Bertiaw T R 2
(A) Tamem
(B) W=|IG
(C) AAMsaras
(D) iy

5, TGP ZRAPHHEN & TN = ?
(A) TG A
(B) Srave RwRiiomE
(C) TS OF
(D) AN g




6. Which Five Year Plan (India) focused on
the development of heavy industry?

(A) First Five Year Plan
(B) Second Five Year Plan
(C) Third Five Year Plan
(D) Fifth Five Year Plan

7. How many Gold Medals won by India in
Asian Games, 20237 i

A 27 "
(B) 28 -
(©) 29
(D) 30

8. Where in India different types of Corals are
seen?

(A) Sundarban
(B) Kerala

{C) Daman & Diu
(D) Lakshadweep

9. Human skin tone is governed by the
pigment—
(A) Melanin
(B) Silicon
(C) Insulin
(D) None of the above -

10. Which city of West Bengal is known as
gateway to N. E. India?

(A) Jalpaiguri
(B) Alipurduar
(C) Siliguri
(D) Coochbehar

DMRI/22

6. ©IATe @IF AR “AfFoaay o Mee
Reiet oy oremt TAmEs e

(A) =9 ARARFH i

(B) &S siwmifES s
(C) woi A% ~fizmm=i
(D) iz oAzl wiReesa

7. 20239 <R (SRH-4 SiETea e T Pm
FHP—
(A) 27
(B) 28
(C) 29
(D) 30

8. oiared (U ey wae 299 ol e
(A) TTaFA
(B) (Fafett
(C) wm.¢ S
(D) =r=tar

9, AT MECFR (M) ST T @AM
Gofg—
(A) G
(B) Bifsigw
(C) Zwif
(D) B @IS 7

10. ~FoTaTR @R *=TeE BeR-d eimred
AT RE T = 2
(A) wEAiRafe
(B) eI
(C) Mfefe
D) FelEE
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11. 12 people can finish a work in 4 days. How
many people will be needed to do 8 times of this
work in half of the time?

(A) 112 people
(B) 150 people
(C) 160 people
(D) 192 people

12. Buying 5 eggs at rupees 10, sells 10 eggs at
rupees 5, then what is the rate of loss?

(A) 75%
(B) 50%
(C) 80%
(D) 100%

13. The average of 20 numbers is 12. If the
average of the first 12 numbers is 11 and the

average of the next 7 numbers is 10, the last number
will be

(A) 38
(B) 36
(C) 26
(D) 28

14. The product of three consecutive natural
numbers is 120. What is the sum of the three
numbers?

(A) 9
(B) 15
(C) 12
(D) 14

15. Which is the highest number of six digits
divided by 7, 12, 5 and 15 remaining the remainders
5, 10, 3 and 13 respectively?

(A) 999608
(B) 999598
(C) 999600
(D) 999500

D-4

11. 93 31 125 @1 4 Tt oo a0 iz |
97 8 e PG SHF HAEH FACS (SNTF TG (AP
ol 2

(A) 112%
(B) 150&w
(C) 160&w
(D) 192&%

12. 10 5w 5 f&x &0 33 5 5w 10% f&w
rn o=, wfea g vee

(A) 75%
(B) 50%
(C) 80%
(D) 100%

13. 201 5@ 51w 121 299 1216 F o1e 11
QR AT 7T A 91T 10 30, (<R AL 5@

(A) 38
(B) 36
(C) 26
(D) 28

14. 27 27 Toat Freifaa wre HeLpa aeqwa 120,
ey Tonioa @iores ¢

(A) 9
(B) 15
(o) 112
(D) 14

15. =¥ SI%FA (@I JTSFANF 7, 12,58 15711
©l T4 TAGFE 5, 10, 38 13 Sleiee A2

(A) 999608
(B) 999598
(C) 999600
(D) 999500




16. Hiroshima Day is observed every year on
. (A) 4th August '
(B) Sth August
(C) 6th August
(D) 12th August

~ 17. The percentage measurement of water is
20% in 70 litres mixture of milk and water. How

much litres water should be added in the mixture, ‘

so that the percentage ‘measurement of water
becomes 30% in the mixture?

(A) 15 litres
(B) 10 litres
(C) 20 litres R
(D) 25 litres b

Yo

N -

-
- >
- f

18. Where does the Easternghat and
Westernghat {(mountain range) meet?

(A) Nilgiri
(B) Annamalai
(C) Aravalli
(D) Satpura

19. Chief Justice of Kolkata High Court—
(A) Justice Surya Kant
(B) Justice D.Y. Chandrachud -
(C) Justice T.M. Sivagnanam
(D) None of thefn

20. A, B and C start a joint business. At the end
of the year, A gets %po'rtion of dividend, B gets

% portion of dividend and C gets rupees 4,900.

‘What was the total profit in the business?
(A) Rs. 12,000
(B) Rs. 14,000
(C) Rs. 15,000
(D) Rs. 10,000

DMRI/22

16. =famn Frafmi e «ifre =
(A) 43t =eh%
(B) 5% W36
(C) 6T
(D) 12% =%

17. 70 o 74 @ s Rt s Hewal
s 20% | fiiibre Siqe o= FoE o= Griite
Z7F, e Fafts were <ot s 30% e

(A) 15
B) 10fH=
(C) 20 fBE
(D) 25 o

18. SRS ¥ @ #AfeY WWHT (sEwAE)
AT

(A) A=
(B) SRR
(C) SRt
(D) o5l

19. RIS QRFGT A4 Roraafe—
(A) wiFE T
(B) =I5 . enfe, vape
(©) = 5. 4ax. Fraremw
(D) Boitam o W

20. A, B8 CuFi (Y JP1 &F 503 | 929 (I
AT % W, B A %W‘ﬁs’{maaac
4,900 5iA AR | G (WG F© =i ZAfRe ¢

(A) 12,000 B
(B) -14,000 SRt
~(C) 15,000 5t
(D) 10,000 Bt
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21. Last Viceroy in India—
(A) Lord Canning
(B) Lord Linlithgow
(C) Lord Mountbatten
(D) Lord Wavell

22. Forest conservation can arrest—
(A) soil erosion
(B) pollution
(C) flood
(D) All of the above

23. Dakshin Gangotri, India’s first scientific
base station is in—

(A) Himalayas
(B). Indian Ocean
(C) Antarctica-
(D) Kanyakumari

24. Last Governor General of India—
(A) Lord Canning
(B) Lord Ellenborough
(C) Chakravorty Rajagopalachari
(D) J. B. Kripalani

25. Only metal that is liquid at normal
temperature—

(A) Gold
(B) Zinc
(C) Copper
(D) Mercury

D-6

21 ST (8 SlRTEE—
(A) =6 TiflR
(B) =T Fmimaret
(C) =76 MSHIGA
(D) =16 eT=A

22, I AT N Aoty 9h—
(A) ghrea
B)
(C) ¥
(D) Soitaa 7=y

23, W AT, SIRTed 2N REif (R3] GO
wafEe—
(A) TRaem
(B) ©i@ M
(C) =roRle
(D) weurgEnat

24, SIF0OT (R IS (EIET—
(A) o€ TR
(B) =% EFwRE!
(C) TEIS! Armsttofiensifa
(D) & R, A

25, <TG 1Y 9! Tl ST o wag
S—

(A) G
(B) W

(C) ==
REL




26, Universal blood doner group—
(A) Group A
(B) Group B
(C) Group AB
(D) Group O

27. IfAis10%]less of B and B is 10% more than ‘

900, then what is the value of A?
(A) 660
(B) 800
C) 891
(D} None of the above

28. A 70 metres long train in a speed of
75 km/hour will cross a 105 metres long bridge in
time.

(A) 2% seconds
2

(B) 83 seconds
2

(© 9§ seconds

(D) 18%— seconds

29. If the price of sugar increases by 20% and
10% respectively, what will be the percentage
increase on the total?

(A) 20%
(B) 32%
(C) 40%
(D) 30%

30. For agricultural and rural development,
Apex Bank is—

(A) Reserve Bank of India
(B) State Bank of India
(C) NABARD

(D) Bank of India

D-7
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26. (I AT TF LGN Wrel 2
(A) &%t @
(B) = R
(C) &4 @R
(D) g g

27. 9 A, B-49 10% S 50998 B, 900-9 (57T
10% @R =T, O A-T Wi TO 7

-(A) 660
(B) 800

(C) 891 :
(D) o @ 7

28. @b 70 {576 o191 G 2% 75 B @t
105 oK =141 @ Fe i o ™Y (|

(A) 2—;- TS
®) 8% o
© 9% OIS

(D) 18% TS

29. Tofe=mi #4% 517 20% ' 10% 3% Coit1 (BT
Tofg x4l 9 I A
(A) 20%
B) 32%
(C) 40%
(D) 30%

30. R @R Gl TTAF SHITAT GIF TT—
(A) RS s w3
(B) G%6 1% o Tt
(C) WG
(D) = &3 3w
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31. What is the difference between compound
interest’ and simple interest of rupees 5,000 in
2 years at 8% annual rate of interest?

(A) 64
(B) 26
(C) 52

D) 32

32
P = How much?

. (A) 190
(B) 225
(©) 255
(D) 536

33. ‘Poverty & Un-British rule in India’ was
written by—

{A) Ramesh Chandra Dutt
(B) M. G. Ranade

(C) Dadabhai Naoroji
§0)] Arriartya Sen

34. McMahon line as international boundary
between which two countries?

(A) India—Pakistan

(B) India—Bangladesh

(C) India—China

(D) India~Burma (Myanmar)

35. Leader of Munda uprising—
(A) Joa Bhagat
(B) Sidhu
(C) Birsa
(D) Kanhu

31. s 8% @ TR soooﬁmazw
b I 8 I A TGE FO7
(A) 64
(B) 26
(©) 52
(D) 32

/N
v v P=<9?
A A
N
(A) 190
(B) 225

(C) 255
(D) 536

32.

33. ‘Poverty & Un-British rule in India’-¥
m_
(A) TCHH wE
(B) «3. f&. e
(C) wrSiE s
(D) =h) G

34, IR TR GO 1B CreR et ok
QLazy

(A) SFe-AfEH

(B) SIIe—Ak

(C) Sra®-biw

(D) SRe-IR (AAT)

35, ! Rualted THCee qiN—
(A) ol B5te '
®) Fig
©) =
(D) e



36. Crocodile Tears meaning—
{A) Tears from animals
(B) Painful expression
(C) False tear
(D) None of the above

37. Dyarchy was introduced in Bengal by—
(A) Robert Clive
(B) Warren Hastings
(C) Lord Wellesley
(D) Lord Dalhousie

38. In what proportion pure milk is mixed with
water to sell the mixed milk at its cost price having
25% profit?

(A) 4:1
(B) 3:2
(€ 3:1
(D) 5:4

" fw

-
sy V).

e
39. What is the average of the cubes of
consecutive even natural numbers from 1 to 257

(A) 5200
(B) 4240
(C) 4056
(D) 4628

40. Who won Women’s Hockey 5s AsiaCupin
20237

(A) Pakistan
(B) Bangladesh
(C) India

" (D) China
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36. gfras I wd—
(A) @it St
(B) ¥3q Hfeqfes
(C) oife =
(D) St e 77

37. AT (TIPS 247G FLE
(A) =36 Fize
(B) SAE @S
(C) =16 SERaAR
(D) =% SR

38. <6 w«@ A o= A weins fiFe saE
R vy Ty Rera T 25% &S z3e
(A) 4:1
B) 3:2
(C) 3:1
(D) 5:4

39. 1 CUF 25 “FQ o “7 cars FefT wyE
d 16 F9?

(A) 5200
(B) 4240
(C) 4056
(D) 4628

40. 2023~ SEEGE 2 55 Asia Cup ReRl
P —

(A) ifEsN
(B) <t
(C) SRS
(D) B=
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46, What is the sum of the first 100 odd natural
numbers?

(A) 10000
(B) 10650
(C) 15050
(D) None of the above

47. Sal tree is.
(A) Coniferous
(B) Evergreen
© Mangrove
(D) Deciduous

48. Who renamed Calcutta as Alinagar?
(A) Alivardi Khan .
(B) Murshid Quli Khan o
(C) - Sirajuddaulah O
(D) Mir Qasim '

S

49. What will be the value of angle between the
hour-hand and minute-hand in a clock at dawn
4 am.?

(A) 90°
B) 150°
(©) 120°
(D) 110°

50. If 26th day of March of 2019 is Tuesday,

what day will be 26th day of March of 20227
(A) Saturday
(B) Sunday
(C) Thursday.
(D) Wednesday

D-11 ¢ : DMRI/22

46. == 1006 el [{rere Mo =B 3o ?
(A) 10000 ' '
(B) 10650
(C) 15050

(D) B4 g 71

47, A& F
(A) TR
. (B) fowrm
(C) Wialre
(D) sttt

48, FEHTOI] AN Sifewag ROfRE™
(A) SR <A
(B) g 4
(C) Prerens
(D) Nzdw .

49. (1T 45N T 76! ¢ DI FoIT
TGS T AT I
(A) 90°
(B) 150°
(©) 120°
(D) 110°

50. 2019 WG 2604 M6 THAAT T, 2022
ST 26040 WE N 9 A2

(A) =fa=
B) 9Rkal™
(C) JTifeqn

(D) 1=
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51. What will be the compound interest of

rupees 900 in 2% years at 5% annual rate of

interest?
(A) 103-28
(B) 110-20
{C) 104-50
(D) 102-16

52. Who invented computer?
(A) Otto Hahn
(B) Niels Bohr
(C) Howard Eitkin
(D) Charles Babbage

53. A and B together can finish a work in
10 days, B and C together can finish that work in
12 days and C and A together can finish the work

in 15 days. Then in how many days C alone will be .

able to do the work?
(A) 10 days
(B) 20 days
(C) 30days
(D) 40 days

54. Which state was previously known as
NEFA?

(A) Nagaland
(B) Manipur
(C) Mizoram
(D) Arunachal Pradesh

D-12

51. AR 5% 2E 9005 2% TATT
3 T A
(A) 10328
(B) 11020
(©) 10450
(D) 10216

52, FPToR SIfET Fr—
(A) = B
(B) e @
(C) oG THR~
(D) vt FiEe

\

53." A6 B 43 930 3% 10 WA, B8 C w3
G FEh 12ME e C 8 A E el 15 ME em
TS~ | ©IFgE C ] 62 T % iy sq0e
AR ? :

(A) 10 =
(B) 20 fats
'(C) 30 T
(D) 40 W=

54, uliRe araele Wy @b Wit NEFA
T e fwe

- (A) qilse
"(B) w+fg

(C) Pz

(D) SEFelloeT S
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1.1 1 1 _ 1 .1 1 I oo i
0. 57 79 ot *t2ms - How 60 s7*39 ot "t 3305 O
much? A) 1 :
(A) i 25
25 ®) 3
(B) i. 25
25 . '(C) 2
© = o
25 ~ 1
o 1 ®) 3 -
@) 3
61. What iS the value.of 61 0835X0835X0'835+0165X0165)(0165

( I.S XU (). . x (0 %0
5’ - 9 T

(A) 067 . : (A) 067
®) 1 (B) 1
©) 0138 | (0 0138
™2 - @) 2
62. \/20+ 20++/25 =How much? \ 62, J20+20++/25 = T2
(A) 2 | : A 2 - '
(B) 3 (B) 3
5 G 5
(D) 6 D) 6 R
A}
63. Which country has decided toban mobiles, | 63, oo I (GIRRIT) IR o, IR
tablets and smart watches from classrooms in | g % @5 T a0z 2024 Q-
20247 : ‘
(A) China _, (&) B
(B) India (B) ®H®
(C) Netherlands (C) viRenleT
(D) Japan ' (D) ===
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64. In an election, a candidate getting 60% of
votes defeats the opponent candidate by 298 votes.
Then total how many votes were polled in that
election?

(A) 1600
(B) 1490
(C) 1460
(D) 1540

65. A cricketer had a certain average of runs
up to his 64 innings. But the average runs of the
innings gets down by 2 runs on becoming out at
zero in the 65th innings. Then what is his present
average of runs?

(A) 130
(B) 128
(C) 64
(D) 120

66. Average of three numbers is 77. The first
number is twice of the second number and the
second number is twice of the third number. Then
what is the first number?

(A) 132
(B) 144
(C) 120
(D) 160

67. The ratio of income of two personsis 2 : 3
and the ratio of expenditure is 5 : 9. If both of the
two persons can save rupees 600 at the end of a
month, then whatis the monthly income of the first
person?

(A) Rs. 1,600
(B) Rs. 1,200
(C) Rs. 1,800
(D) Rs. 2,000

68. Evaluate the smallest number which is
completely divisible by 18, 30, 21 and 12 if it is
made thrice.

(A) 420
(B) 360
(C) 520
(D) 660

64. 937 v, 9% 28 60% celb (A Afewal
AT 298 (I #1fre T | oI €3 N5 (B
T (BB oIreies 2

(A) 1600
(B) 1490
(C) 1460
(D) 1540

65. &% THEITONTT 64 WA o @ [
R 415 Bt /e 65%% IR ¥ 1 =6
Q6T SR 1% I 2 0 T | OGS O TOAN
G I TS ?

(A) 130
(B) 128
(C) 64
(D) 120

66. TS AT G 77 | AL RIS e mia=
Bad g B MG TR WUy Rad | oz
2T ALY Fo?

(A) 132
(B) 144
(©) 120
(D) 160

67. Mo e WE A 2 @ 3 GIR JH0BA
TEANS 5 1 91 T 42 e ME™ IR 600 B TF
T I, O A ey N e v

(A) 1,600 5=
(B) 1,200 Bist
(C) 1,800 5=t
(D) 2,000 Bt

68. T WY [ w—»{'w oot w9
18, 30, 21 '@ 12 =R =sjefast Rerey 21!
(A) 420
(B) 360
(C) 520
(D) 660
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69. The population of a village is 67,600. If 4%
of population increases every year in the village,
then what was the population of the village 2 years
ago?

(A) 64,500
(B) 62,400
(©) 62,500
D) 65,100

70. Theratio oflengths of twotrainsis5:4. The
ratio of times to cross a postis 4 : 3. Then what will
be the ratio of speeds of the two trains?

(A) 15:16
B) 5:3
(C) 6:5
D) 5:4

71. World’s highest rainfall—
(A) Chinna Kallar
(B) Pune
{C) Pasighat
(D) Mausynram

72. A dwelling in which soldiers live—
(A) Camps
(B) Barracks
(C) Tents
(D) Fort

73. Loktak lake is situated in
(A) Nagaland
(B) Arunachal Pradesh
(C) Manipur
(D) Sikkim

D-16

ST S T2 4% A EIFRY! M AT, SR 2 77
LS 6% iG] o B2

(A) 64,500

(B) 62,400

(©) 62,500

(D) 65,100

70. 96 GETa UG SAIS 5 : 41 9B o
WS S L A 4 - 3| ol G 4w
ARSI Sgeire 7 e

(A) 15:16
B) 5:3
(C) 6:5
D) 5:4

71. RS (Rey) gRsie w—
(A) Poat sE=
®) =
(C) ~if=aie
(D) cufaN

72. GHIFARA—
(A) ™
(B) JRIE
(C) &% (S19)
®) 7

73. GO (FF ]AFS
(A) TSNS
(B) ==reliosT aAtaed
(©) SR
(D) Pl

69. =% A TS EAFHALY 67,600 |70 -

-

e




74. 4 years ago, the ratio of ages of father and
son was 9 : 2. The present age of the father is
40 years. What will be the present age of the son?

(A) 12 years
(B) 15 years
(C) 18 years
(D) 10 years

75. A famous musician in the court of Akbar—
{A) Tansen
(B) Abdul Latif
(C) Tulsidas
(D) Abdus Samad

76. Thesmallestnumberamong 3% 9% 3% 9%
is ? 3 H)

1

- (A) 33

1

(®B) 99

1

© 35

1

(D) 96

77. Thetotal equivalent discounts of 10%, 20%
and 30% serially on an article is

(A) 71.2%
(B) 62%

(C) 60.4%
(D) 49.6%

78. How many times will be some principal in
principal & interestin 10 years at 10% annual rate
of simple interest?

(A) 11 times
2

(B) 2 times

(©) 22 times
2

(D) 3 times

D17 DMRI/22

74. 4 T=F M el @ A WER S
25192 1 foora T8I 991 40 TR 20, TR TS
T T AT

(A) 12 9=
(B) 15723 -
(C) 189=a
(D) 10 T=F

75. HFEE qAeeTel Ryre sHow—
(A) OFGFA
. (B) @I e
(C) e
(D) T A

76. 3§’ 95’ 3§, 9% 99 WG TSN T T —
@) 3 |
B) 9%
©) 3é
® o

77, 436 THF B9 79 71 10%, 20% 43R 30%
RITEH ATGe] R
(A) 71.2%
(B) 62%
(C) 60.4%
(D) 49.6%

78. A< 10% 21 71 I (RAVCAT S7eT 10 72

| TG A

1
(4) 15 @
(B) 2 e

1
(© 25
(D) 3o
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79. Who was awarded SPINOZA prize 2023
for climate change work?

(A) Greta Thunberg
(B) Malala Yousafzai
(C) Joyeeta Gupta
(D) Rachel Carson

80. Firstbattle of Tarain was fought between—
(A) Sultan Mahmud and Prithviraj Chauhan

(B) Muhammad Ghori and Prithviraj
Chauhan

{C) Babur and Tbrahim Lodi
(D) Akbar and Himu

81. President of India is elected by—

(A) elected members of Lok Sabha,
RajyaSabhaandall the state Assembly

(B) elected members of Lok Sabha
(C) elected members of Rajya Sabha
(D) elected members of all state Assembly

82. Who was awared the first Nqble Prize in
India?

(A) Mother Teresa

(B) C.V.Raman

(C) Rabindranath Tagore
(D) Amartya Sen

83. Who introduced Kabuliyat and Patta?
(A) Sher Afgan Khan
(B) Sher Shah
(C) Akbar
(D) Malik Ambar

79, 2023-4 TR ~fFaSe Beg aRam
SPINOZA *%iq Coteiri—

(A) Gafot sl

(B) WY STAITEIY,
(C) wfiet o

(D) Wite T

80, SHRGH 29 @ 2ERA—
(A) FToI AW @R v{f{arer GIRE g
(B) W% (IR 4R A G G
(C) T 3% T@IE EHIE =g
(D) =iedd U<k &g g

81. Siaren Agelfe v 2n—
(A) @WW@WWW
ifes wweg Tl

(B) @iTer Rite wwep am@l
(C) srEpeTeiy s sweg wt
(D) siep Ruirreislr Rdibe sweg armt

82. SISI (< 2 (I JFHI A2
(A) WmE Giet
(B) .1, whm
(€) I IFT
(D) =TS} G

83. YIS @ A oAl TrIH—
(A) O SIRPAAR W
(B) ci9 #ig
(C) S
(D) wifers o=d
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84, Which country won Women’s Emerging
Asia Cup in 20237

(A) Pakistan
(B) India

(C) Sri Lanka
(D) China

-85. A train crosses a lamp-post in 10 seconds

and crosses a 50 metres long platformin 14 seconds.

Then what will be the speed of the train in an hour?
(A) 60 km/hour
(B) 45 km/hour
(C) 30 km/hour
(D) 40 kmw/hour

86. Who is the youngest mountaineer in the
world and first from India to climb both Seven
Summits and Volcanic Seven Summits?

(A) Amulya Sen

(B) Bachendri Pal

(C) Basanta Singh Roy
(D) Satyarup Siddhanta

2

141
1
x+—3—

87. If 4+ ={ , whatis the value of x27

(A) -1
(B) 4
1
(D) 16

88. Ifé'ﬁ"K'E,menK=Howmuch?

11'9 " "'13
1
) 3
(B) 2
21
©) 72-
D) 3
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84, 2023-4 (FH 0l Women’s Emerging Asia
Cup fEerz?

(A) s
(B) SIS
(C) Herst
(D) =

85. 30 @GN a0 FHo-CoPHCT 10 IS @3
50 f5i51a eha AT 14 (TS Siews o |
OiEE GAGE 9951 9 [t siferas 2@ e

(A) 60 /9%
(B) 45 [hi/ a6
(C) 30 fni/<eG
(D) 40 FR/a5!

86. Fvex T W3R SiFTeR 2 SR -

R @rre sfiG @ Sl cited ARG =@z
FAEA— :
(A) ST W
(B) AHR oA
(€ e g an
(D) “rorset Fras

87, 44— 2
1+

— =0, x4 T Fo?

P

3
(A) -1
(B) 4
© 1
D) 16

ss.aﬁ%:%::m%mw&we
1
(A) 3
B) 2
21
© 2
D) 3
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89. If the g.c.d. and the l.c.m. of two numbers
are respectively 8 and 160, then the sum of the two
numbers will be

(A) 80
(B) 62
(C) 74
(D) 72

90. What is the unit digit of (593)% x (124)%?
(A) 8
(B) 6
<) 4
(D) 2

91. If rupees 42 is the difference of interest of
some amount of principal between 3 and 4 years at
5% annual rate of simple interest, what is the
amount of principal?

(A) Rs. 800
(B) Rs. 840
(C) Rs. 900
(D) Rs. 620

92. Who writes story of another person’s life—
(A) Historian
(B) Biographer
(C) Chronicler
(D) Penman

93. What digit is to be put in the ‘*’ marked
place to get the number 5432*7 divisible by 97

(A) 0
®) 1
©) 6
D) 9

D-20

" 89. v FMAF 5@, 8 HI.G. TG 86 160
o0, AR BT e =

(A) 80

(B) 62

©) 74

(D) 72

90. (593)% x (124)5-97 GHHA F TO7?
(A) 8 '
(B) 6
© 4
(D) 2

91. IR 5% 7i5e1 7R A g~ g
3 q59 '8 4 AT YA A1 42 Bl T, WA
sifame Fo ¢

(A) 800 B
(B) 840 Bial
(C) 900 B
(D) 6205t

92, SIS Gk GTCA RAf—
(A) afszbre
(B) slaeam
(C) FRfF==
(D) Tt

93, “* I I T IAICT 5432%7RGi 9=
ey 73 e

(A) 0
(B) 1
) 6
(D) 9




94. Mahaparinirvana means—
(A) Enlightenment
(B) Dharmachakraproborton
{C) Leaving family
(D) Death of Lord Buddha

95. An cmpty tank is water-filled by A and B
pipes in 10 minutes, by B and C pipesin 12 minutes
and by A and C pipes in 15 minutes. In how much
time the three pipes together will fulfil the empty
tank with water?

(A) 8 minutes
(B) 6 minutes

{C) G%minutes
{D) 5 minutes

96. The product of two numbersis 1575 and the
quotient is % , what are the two numbers?

(A) 45,35
{B) 81,63
(©) 35,27
D) 36,35

97. Thecostprice of anarticleis rupees 620 and
itis 25% less than the marked price. If the article is
sold at 15% discount, then the percentage of profit
will be

(A) 14%%

(B) 13%%

©) 13%%

D) 12%%

D-21
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94, seifafdia e
(A) @fR=e
(B) wiozpeiase
(C) 1= =il

(D) 3029 7Y

95. «<ib AE BiE A e B = M 10 RRG, B
C == i 12 R 9= A € C 7= w15 RifFG
oyl @t A Lo i «ta 36 e i G
Ttef TaCe AR

(A) 8 RfG
B) 6 f+E

©) 6-;— R
(D) 5FfE

96. 10 FRYIT Qe 1575 GR ST %,m‘%{n
e R R

(A) 45,35

(B) 81,63

(C) 35,27

(D) 36,35

97. b TIFTIET 620 B 93 GO AFETL
(AT 25% 9 | 5010 37 15% 20s er T 27, o]
el FIS 2@

(A) 14%%

(B) 13%%

©) 13%%
2

@) 125%
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98, Who was awarded 2023 SASTRA
RAMANUIJAN in Mathematics?

(A) Roger Penrose
(B) Katherine Johnson
(C) Ruixiang Zhang
(D) John Conway

99. India’s first Remote Sensing Satellite—
(A) Po
(B) P4
(C) IRS 1A
(D) CARTOSAT

100. Who assumed the title ‘Chhatrapati’?
(A) Shivaji
(B) Baji Rao
(C) Dadaji Kondadev
(D) Shambhuji

D-22

98, +f9ts 2023 SASTRA RAMANUJAN
HHY CoAeTH— :
(A) T AN

B) IR TP
(C) TN

(D) & TS

99, ©iTed YN ReIG EWPR TGRS (7
| SR BeeR)—
(A) P6
(B) P4
(C) IRS 1A
(D) CARTOSAT

100. ‘m@+if®’ eyt fwafaEm
(A) &

(B) A&e

(C) wWISH (IS

(D) =&
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